



# Kansas Register

Kris W. Kobach, Secretary of State

Vol. 33, No. 2

January 9, 2014

Pages 29-52

In this issue . . .	Page
<b>Department of Administration—Office of Facilities and Procurement Management</b>	
Request for commissioning services.....	30
<b>Department of Administration—Office of the Chief Financial Officer</b>	
Public notice.....	31
<b>Natural Resources Conservation Service</b>	
Notice of Kansas Technical Committee meeting .....	31
<b>Kansas State Historical Society</b>	
Notice of meeting on Heritage Trust Fund grants.....	31
<b>Historic Sites Board of Review</b>	
Notice of meeting .....	31
<b>Department of Commerce</b>	
Notice to private activity bond applicants.....	32
<b>Pooled Money Investment Board</b>	
Notice of investment rates.....	32
<b>Office of the Governor</b>	
Executive Directive No. 13-449, authorizing expenditure of federal funds.....	32
<b>Kansas Board of Regents Universities</b>	
Notice to bidders .....	33
<b>Department of Administration—Procurement and Contracts</b>	
Notice to bidders for state purchases .....	33
<b>Department of Revenue</b>	
Notice of available publications.....	33
<b>Kansas Department of Transportation</b>	
Notice to consulting firms.....	34
<b>Department of Health and Environment</b>	
Notice concerning water pollution control permits/applications .....	34
<b>Temporary Administrative Regulations</b>	
Kansas Lottery .....	35
<b>Index to administrative regulations.....</b>	<b>49</b>

## State of Kansas

**Department of Administration  
Office of Facilities and  
Procurement Management**

**Request for Commissioning Services**

Notice is hereby given for the receipt of proposals for third party commissioning services for the new Kansas Bureau of Investigation (KBI) Forensic Science Center.

The project is an approximately 100,000 S.F., three-story forensic science laboratory building located on the campus of Washburn University in Topeka. The project construction budget, including fixed laboratory equipment, is \$38,900,000. The facility consists of a forensic laboratory, lab support and office space for the KBI; shared teaching labs for Washburn University; and a 100-seat auditorium. The project is currently in the design development phase.

The commissioning authority (CxA) will plan, manage, perform and report on the commissioning activities, utilizing the reporting formats and standardized forms provided by the CxA whenever required. The CxA will submit deliverable reports to the Topeka Public Building Commission (TPBC) and the KBI according to a project schedule set by CxA and agreed upon by the TPBC and the KBI.

The management structure is construction manager at-risk with full design documents and specifications developed by PGAV Architects, McClaren Wilson Lawrie Forensics Architectural consultants and Frankfurt Short Bruza consulting mechanical-electrical-plumbing engineers. McCown Gordon Construction LLC has been retained as the owner's CMAR. The commissioning au-

thority will be hired by and report directly to the TPBC and the KBI. The KBI has retained the state of Kansas Office of Facilities and Procurement Management as an architectural and engineering technical advisor for the project.

Interested firms can request copies of the complete request for proposal (RFP) and scope of services from the following:

PGAV Architects  
1900 W. 47th Place, Suite 100  
Westwood, KS 66205  
Attn.: Michelle Gangel  
913-362-6500

Office of Facilities and Procurement Management  
800 S.W. Jackson, Suite 700  
Topeka, KS 66612  
Attn.: Ray Smith  
785-296-4725  
ray.smith@da.ks.gov

Proposers shall submit three complete bound copies of their proposals with a PDF or a CD or USB flash drive to the KBI, at the address below, by 4 p.m. (CST) Tuesday, January 28, 2014:

Thomas L. G. Price, Project Manager  
Kansas Bureau of Investigation, Headquarters  
1620 S.W. Tyler St.  
Topeka, KS 66612-1837  
785-230-7703

Mark J. McGivern, Director  
Office of Facilities and  
Procurement Management

Doc. No. 042216

The Kansas Register (USPS 0662-190) is an official publication of the state of Kansas, published by authority of K.S.A. 75-430. The Kansas Register is published weekly and a cumulative index is published annually by the Kansas Secretary of State. One-year subscriptions are \$80 (Kansas residents must include applicable state and local sales tax). Single copies, if available, may be purchased for \$2. **Periodicals postage paid at Topeka, Kansas. POSTMASTER:** Send change of address form to Kansas Register, Secretary of State, 1st Floor, Memorial Hall, 120 S.W. 10th Ave., Topeka, KS 66612-1594.

© Kansas Secretary of State 2014. Reproduction of the publication in its entirety or for commercial purposes is prohibited without prior permission. Official enactments of the Kansas Legislature and proposed and adopted administrative regulations of state agencies may be reproduced in any form without permission.

Hard copy subscription information and current and back issues of the Kansas Register (PDF format) can be found at the following link: [http://www.sos.ks.gov/pubs/pubs\\_kansas\\_register.asp](http://www.sos.ks.gov/pubs/pubs_kansas_register.asp)

**Published by**  
Kris W. Kobach  
Secretary of State  
1st Floor, Memorial Hall  
120 S.W. 10th Ave.  
Topeka, KS 66612-1594  
785-296-4564  
[www.sos.ks.gov](http://www.sos.ks.gov)



**Register Office:**  
1st Floor, Memorial Hall  
785-296-3489  
Fax 785-296-8577  
[kansasregister@sos.ks.gov](mailto:kansasregister@sos.ks.gov)

State of Kansas  
 Department of Administration  
 Office of the Chief Financial Officer

Public Notice

Under requirements of K.S.A. 65-34,117(c), as amended, records of the Office of the Chief Financial Officer show the unobligated balances are \$6,306,643.03 in the Underground Petroleum Storage Tank Release Trust Fund and \$4,032,061.08 in the Aboveground Petroleum Storage Tank Release Trust Fund at December 31, 2013.

Martin Eckhardt, Manager  
 Audit and Assurance

Doc. No. 042221

(Published in the Kansas Register January 9, 2014.)

Natural Resources Conservation Service

Notice of Kansas Technical Committee Meeting

The Natural Resources Conservation Service will conduct a Kansas Technical Committee meeting via teleconference from 9:30 to 10:30 a.m. Thursday, January 9, to make an informed recommendation to the state conservationist regarding adding an additional watershed for the National Water Quality Initiative, an initiative funded under the Environmental Quality Incentives Program (EQIP). Persons interested in participating may contact Rosie Collins for call-in numbers at 785-823-4566 or rosie.collins@ks.usda.gov.

For more information contact Xiomara Tryban, assistant state conservationist for programs, NRCS, Salina, at 785-823-4569 or xiomara.tryban@ks.usda.gov.

NRCS is an equal opportunity provider and employer.

Eric B. Banks  
 State Conservationist

Doc. No. 042212

State of Kansas  
 State Historical Society

Notice of Meeting

The Kansas State Historical Society will accept public comments regarding the 2014 round of Heritage Trust Fund grants from 9 a.m. to noon Friday, February 7, in the classrooms in the Kansas Museum of History, 6425 S.W. 6th Ave., Topeka. Grant applicants and members of the public are welcome to comment about particular grant applications or the program in general to the grant review committee at that time.

Persons requiring special accommodations to attend the meeting should contact the Cultural Resources Division of the Kansas State Historical Society, 6425 S.W. 6th Ave., Topeka, 66615-1099, 785-272-8681, ext. 240, at least two weeks prior to the meeting to discuss how the State Historical Society may ensure participation.

Jennie Chinn  
 Executive Director

Doc. No. 044214

State of Kansas  
 Historic Sites Board of Review  
 Notice of Meeting

The Kansas Historic Sites Board of Review will meet at 9 a.m. Saturday, February 8, in the classrooms in the Kansas Museum of History, 6425 S.W. 6th Ave., Topeka. The board will consider the following items:

- Approval of minutes of November 16, 2013, meeting.
- Heritage Trust Fund committee report.
- National Register of Historic Places — Nominations:
  - Norcatour City Hall — 107 N. Decatur Ave., Norcatour, Decatur County  
 (Nominated as part of the New Deal-Era Resources of Kansas MPS)
  - Minier, Abram M., House — 307 South Ave., Highland, Doniphan County  
 (Nominated as part of the Historic Resources of Highland, Doniphan County, Kansas MPS)
  - Birchmore, John W., House — 1204 N. Buckeye Ave., Abilene, Dickinson County
  - Truitt, James, House — 305 N. Steuben Ave., Chanute, Neosho County
  - Sylvan Grove Union Pacific Depot — 131 S. Main St., Sylvan Grove, Lincoln County  
 (Nominated as part of the Historic Railroad Resources of Kansas MPS)
  - Lowe Center School, District #115 — Indian Road & 27th Road, Washington County  
 (Nominated as part of the Historic Public Schools of Kansas MPS)
  - Sand Creek Tributary Stone Arch Bridge — 2 miles west, 1.4 miles north of LaCrosse, Rush County  
 (Nominated as part of the New Deal-Era Resources of KS MPS & Masonry Arch Bridges of KS MPS)
  - Lone Elm Campground Swale — 21151 W. 167th St., Olathe, Johnson County  
 (Nominated as part of the Historic Resources of the Santa Fe Trail MPS)
  - Little Arkansas River Crossing — Windom vicinity, Rice County  
 (Nominated as part of the Historic Resources of the Santa Fe Trail MPS)
- Register of Historic Kansas Places — Nominations:
  - Edwards House — 910 Ohio St., Oswego, Labette County
  - Kratzer Brothers Store — 24098 Volland Road, Volland, Wabaunsee County

Persons requiring special accommodations to attend the meeting should contact the Cultural Resources Division of the Kansas State Historical Society, 6425 S.W. 6th Ave., Topeka, 66615-1099, 785-272-8681, ext. 240, at least two weeks prior to the meeting to discuss how the board may ensure participation.

Jennie Chinn  
 Executive Director

Doc. No. 044213

State of Kansas

Department of Commerce

Notice to Private Activity Bond Applicants

Applications for allocation of 2014 Private Activity Bond (PAB) authority are now being accepted for qualified uses, as defined by the Internal Revenue Code of 1986, and amendments thereto.

The state of Kansas is projected to receive \$296,830,000 of federal authority for the issuance of PABs in calendar year 2014. Historically, the primary uses of this federal authority have included "qualified small issue bonds" used for construction and equipping of manufacturing facilities and beginning farmer programs; "exempt facility bonds" used by for-profit entities providing a public benefit, i.e., certain waste treatment facilities, qualified residential rental facilities, etc.; and "qualified mortgage bonds" issued to benefit first-time homebuyers. Allocations awarded by the secretary of commerce are subject to the provisions of K.S.A. 74-5060 et seq. and the limitations of state volume cap.

Fees associated with PAB application and issuance are as follows:

(1) Application fee—A nonrefundable fee must accompany the application before the request can be processed. The application fee is determined as follows:

- \$250 for allocation requests up to \$5,000,000
- \$500 for allocation requests from \$5,000,001 to \$10,000,000
- \$1,000 for allocation requests from \$10,000,001 and above

(2) Issuance fee—An issuance fee for allocation amounts utilized, other than "qualified mortgage bonds" issued, shall be due and payable to the Kansas Department of Commerce at bond closing. Issuance fees shall be determined as follows:

Allocation Used	Fee
To \$2,000,000	5 basis points (.05%)
\$2,000,001 and above	10 basis points (.10%)

"Qualified mortgage bond" programs will be assessed a fee, upon issuance of each mortgage loan assisted through the program, equal to .5% of the PAB allocation used.

Issuance fees shall be remitted within 30 days of bond closing. Checks for both the application and issuance fees for nonhousing issues should be made payable to the Kansas Department of Commerce Bond Fee Fund. Checks for the issuance fees for housing activities should be made payable to the State Housing Trust Fund.

For more information or to obtain application materials contact Ed Serrano or Steve Kelly, Kansas Department of Commerce, 1000 S.W. Jackson, Suite 100, Topeka, 66612-1354, 785-296-5298 or TTY 785-296-3487.

Pat George  
Secretary of Commerce

Doc. No. 042217

State of Kansas

Pooled Money Investment Board

Notice of Investment Rates

The following rates are published in accordance with K.S.A. 75-4210. These rates and their uses are defined in K.S.A. 2013 Supp. 12-1675(b)(c)(d) and K.S.A. 2013 Supp. 12-1675a(g).

Effective 1-6-14 through 1-12-14

Term	Rate
1-89 days	0.08%
3 months	0.06%
6 months	0.08%
12 months	0.16%
18 months	0.26%
2 years	0.40%

Scott Miller  
Director of Investments

Doc. No. 042211

State of Kansas

Office of the Governor

Executive Directive No. 13-449

Authorizing Expenditure of Federal Funds

By virtue of the authority vested in the Governor as the head of the Executive Branch of the State of Kansas, the following transactions are hereby authorized:

Pursuant to the authority of the Superintendent of the School for the Deaf to receive and expend federal funds, and pursuant to the authority granted by the Governor by Section 288 of Chapter 136 of *The 2013 Session Laws of Kansas*, approval is hereby granted to the School for the Deaf for expenditure in FY 2014 of monies in the federal fund "Teachers of the Deaf Personnel Development Grant—Federal Fund."

Pursuant to the authority of the Kansas Board of Regents to receive and expend federal funds, and pursuant to the authority granted by the Governor by Section 288 of Chapter 136 of *The 2013 Session Laws of Kansas*, approval is hereby granted to the Kansas Board of Regents for expenditure in FY 2014 of monies in the federal fund "Temporary Aid for Needy Families—Federal Fund."

Pursuant to the authority of the Secretary of the Department of Agriculture to receive and expend federal funds, and pursuant to the authority granted the Governor by Section 288 of Chapter 136 of *The 2013 Session Laws of Kansas*, approval is hereby granted to the Department of Agriculture for expenditure in FY 2014 monies in the federal fund "Kansas Farmer's Market Conference—Federal Fund."

I have conferred with the Director of the Budget and members of my staff, and I have determined that the guidelines set forth in KSA 75-3711 and 75-3711c have been applied and that none of the foregoing actions exceeds the limitations contained therein.

Dated December 31, 2013.

Sam Brownback  
Governor

Doc. No. 042222

**State of Kansas  
Board of Regents Universities  
Notice to Bidders**

The universities of the Kansas Board of Regents encourage interested vendors to visit the various universities' purchasing offices' websites for a listing of all transactions, including construction projects, for which the universities' purchasing offices, or one of the consortia commonly utilized by the universities, are seeking information, competitive bids or proposals. The referenced construction projects may include project delivery construction procurement act projects pursuant to K.S.A. 76-7,125 et seq.

**Emporia State University** – Bid postings: [www.emporia.edu/busaff/](http://www.emporia.edu/busaff/). Additional contact info: phone: 620-341-5145, fax: 620-341-5073, email: [tshepher@emporia.edu](mailto:tshepher@emporia.edu). Mailing address: Emporia State University, Controller's Office/Purchasing, Campus Box 4021, 1200 Commercial, Emporia, KS 66801.

**Fort Hays State University** – Bid postings: [www.fhsu.edu/purchasing/bids](http://www.fhsu.edu/purchasing/bids). Additional contact info: phone: 785-628-4251, fax: 785-628-4046, email: [purchasing@fhsu.edu](mailto:purchasing@fhsu.edu). Mailing address: Fort Hays State Purchasing Office, 601 Park St., 318 Sheridan Hall, Hays, KS 67601.

**Kansas State University** – Bid postings: [www.k-state.edu/purchasing/rfq](http://www.k-state.edu/purchasing/rfq). Additional contact info: phone: 785-532-6214, fax: 785-532-5577, email: [kspurch@k-state.edu](mailto:kspurch@k-state.edu). Mailing address: Division of Financial Services/Purchasing, 21 Anderson Hall, Kansas State University, Manhattan, KS 66506.

**Pittsburg State University** – Bid postings: [www.pittstate.edu/office/purchasing](http://www.pittstate.edu/office/purchasing). Additional contact info: phone: 620-235-4169, fax: 620-235-4166, email: [purch@pittstate.edu](mailto:purch@pittstate.edu). Mailing address: Pittsburg State University, Purchasing Office, 1701 S. Broadway, Pittsburg, KS 66762-7549.

**University of Kansas** – Electronic bid postings: <http://www.procurement.ku.edu/>. Paper bid postings and mailing address: KU Purchasing Services, 1246 W. Campus Road, Room 20, Lawrence, KS 66045. Additional contact info: phone: 785-864-5800, fax: 785-864-3454, email: [purchasing@ku.edu](mailto:purchasing@ku.edu).

**University of Kansas Medical Center** – Bid postings: <http://www2.kumc.edu/finance/purchasing/bids.html>. Additional contact info: phone: 913-588-1100, fax: 913-588-1102. Mailing address: University of Kansas Medical Center, Purchasing Department, Mail Stop 2034, 3901 Rainbow Blvd., Kansas City, KS 66160.

**Wichita State University** – Bid postings: [www.wichita.edu/purchasing](http://www.wichita.edu/purchasing). Additional contact info: phone: 316-978-3080, fax: 316-978-3528. Mailing address: Wichita State University, Office of Purchasing, 1845 Fairmount Ave., Campus Box 12, Wichita, KS 67260-0012.

Tess Shepherd  
Chair of Regents Purchasing Group  
Procurement Officer II  
Emporia State University

Doc. No. 041700

**State of Kansas  
Department of Administration  
Procurement and Contracts  
Notice to Bidders**

Sealed bids for items listed will be received by the Director of Procurement and Contracts until 2 p.m. on the date indicated. For more information call 785-296-2376:

- 01/21/2014 EVT0002846 Galvanized Steel Culverts
- 01/21/2014 EVT0002862 Janitorial Services at Salina
- 01/23/2014 EVT0002852 Agricultural Services at Tuttle Creek Wildlife Area
- 01/23/2014 EVT0002856 Aggregate at District 1
- 01/23/2014 EVT0002860 Painting of Kansas Soldiers' Home at Fort Dodge
- 02/14/2014 EVT0002847 AML Reclamation Maintenance Project

The above-referenced bid documents can be downloaded at the following website:

<http://www.da.ks.gov/purch/contracts/bids.aspx>

Additional files may be located at the following website (please monitor this website on a regular basis for any changes/addenda):

<http://da.ks.gov/purch/adds/default.htm>

Information regarding prequalification, projects and bid documents can be obtained at 785-296-8899 or <http://da.ks.gov/fp/>.

Tracy T. Diel, Director  
Procurement and Contracts

Doc. No. 042219

**State of Kansas  
Department of Revenue  
Notice of Available Publications**

Listed below are all the Private Letter Rulings, Opinion Letters, Final Written Determinations, Revenue Rulings, Memorandums, Property Valuation Division Directives, Q&A's, Information Guides and Notices published by the Department of Revenue for December 2013. Copies can be obtained by accessing the Policy Information Library located on the Internet at [www.ksrevenue.org](http://www.ksrevenue.org) or by calling the Office of Policy and Research at 785-296-3081.

**Private Letter Rulings**

No new publications

**Opinion Letters**

No new publications

**Final Written Determinations**

No new publications

**Revenue Rulings**

No new publications

**Notices**

13-18 Guidance for same sex couples

**Memorandums**

No new publications

(continued)

**Property Valuation Division Directives**

No new publications

**Q&A's**

No new publications

**Information Guides**

Computer & Office Equipment Repair Self-Audit Fact Sheet

Nick Jordan  
Secretary of Revenue

Doc. No. 042215

**State of Kansas**

**Department of Transportation**

**Notice to Consulting Firms**

The Kansas Department of Transportation is seeking a qualified consulting engineering firm, which must be pre-qualified in Category 322 – Bridge Inspection, for the project listed below. A PDF (1.0Mb maximum size) of the interest response must be emailed to David J. Nagy, P.E., assistant to the director of design/contracts engineer, at DavidN@ksdot.org. Interest responses shall be limited to four pages, and the subject line of the reply email and the file name must read "106 KA-3610-01 LOI – Firm Name." Letters of interest must be received by noon January 16, 2014, for the consulting firm to be considered. View pre-qualification categories at <http://www.ksdot.org/divengdes/prequal/default.asp>.

**Project #106 KA-3610-01  
Quality Control/Quality Assurance of  
Local Bridges Statewide**

Consulting engineering services are sought for the quality control/quality assurance (QC/QA) review of routine and fracture critical inspections on the local system and owned by the local public authorities (LPAs). The selected firm will review inspections and collect bridge data in electronic format using supplied forms and return it in electronic format as well. The firm will work with the BLP program manager to prioritize schedules and the work to be performed during FFY 2014, FFY 2015, FFY 2016 and FFY 2017 Local Bridge Inspection QC/QA Reviews.

The Consultant Shortlist Committee will select three to five of the most highly qualified firms expressing interest and schedule an individual interview for the project. The consulting firms can more thoroughly discuss their experience related to the project at the interview and will be expected to discuss their approach to this project in detail and the personnel to be assigned to this project. View categories at [www.ksdot.org/divengdes/prequal](http://www.ksdot.org/divengdes/prequal).

The Consultant Selection Committee, appointed by the secretary of transportation, will conduct the discussions with the firms invited to the individual interview conferences. The committee will select one firm to perform the professional services required for completing the advertised project.

It is KDOT's policy to use the following criteria as the basis for selection of the consulting engineering firm:

1. Size and professional qualifications.
2. Experience of staff.

3. Location of firm with respect to project(s).
4. Work load of firm.
5. Firm's performance record.

The firm's accounting systems must have the following capabilities before the firm may be awarded a contract:

- Valid, reliable and current costs must be available within the system to support cost and pricing data.
- Capability to provide a means of measuring the reasonableness of incurred costs.
- Capability to identify and accumulate allowable costs by contract or project records that will reconcile with the general ledger.
- Ability to provide supporting documentation of actual expenditures for each billing, based on costs.

For more information contact David Nagy at 785-296-0930 or DavidN@ksdot.org.

Jim L. Kowach, P.E., Director  
Division of Engineering and Design

Doc. No. 042210

**State of Kansas**

**Department of Health  
and Environment**

**Notice Concerning Kansas/Federal Water  
Pollution Control Permits and Applications**

In accordance with Kansas Administrative Regulations 28-16-57 through 63, 28-18-1 through 17, 28-18a-1 through 33, 28-16-150 through 154, 28-46-7, and the authority vested with the state by the administrator of the U.S. Environmental Protection Agency, various draft water pollution control documents (permits, notices to revoke and reissue, notices to terminate) have been prepared and/or permit applications have been received for discharges to waters of the United States and the state of Kansas for the class of discharges described below.

The proposed actions concerning the draft documents are based on staff review, applying the appropriate standards, regulations and effluent limitations of the state of Kansas and the Environmental Protection Agency. The final action will result in a Federal National Pollutant Discharge Elimination System Authorization and/or a Kansas Water Pollution Control permit being issued, subject to certain conditions, revocation and reissuance of the designated permit or termination of the designated permit.

**Public Notice No. KS-AG-14-007/009**

**Pending Permits for Confined Feeding Facilities**

Name and Address of Applicant	Legal Description	Receiving Water
Brad Klaassen 1164 29th Ave. Canton, KS 67428	NW/4 of Section 01, T20S, R01W, McPherson County	Little Arkansas River Basin
Kansas Permit No. A-LAMP-B005		

This is a new permit for a proposed facility for 999 head (999 animal units) of cattle weighing greater than 700 pounds. The proposed facility consists of approximately 7.2 acres of open lot pens and 1.4 acres of feed storage area. Surface runoff will flow across proposed vegetative buffer areas. A sediment basin channel is also proposed

for the feed storage area and sick pen. The four plugged oil/gas wells in the vicinity of the facility will be protected from feedlot runoff and maintained with a 35-foot wide vegetative buffer area per the proposed plans. Water samples will also be taken annually from a nearby water well.

Name and Address of Applicant	Legal Description	Receiving Water
Bryan L. Mosier 814 S.E. 50 Road Ellinwood, KS 67526	SW/4 of Section 09, T20S, R11W, Barton County	Upper Arkansas River Basin

Kansas Permit No. A-UABT-B002

This permit is being reissued for an existing facility with a maximum capacity of 800 head (800 animal units) of cattle more than 700 pounds. There is no change in the permitted animal units.

Name and Address of Applicant	Legal Description	Receiving Water
Jason Shamburg Grassland Growers 3718 Seth Child Road Manhattan, KS 66503	E/2 of Section 36, T12S, R07E, Geary County	Kansas River Basin

Kansas Permit No. A-KSGE-B002

This permit is being reissued for an existing facility with a maximum capacity of 999 head (999 animal units) of cattle more than 700 pounds. There is no change in the permitted animal units.

Persons wishing to comment on the draft documents and/or permit applications must submit their comments in writing to the Kansas Department of Health and Environment if they wish to have the comments considered in the decision-making process. Comments should be submitted to the attention of the Livestock Waste Management Section for agricultural-related draft documents or applications, or to the Technical Services Section for all other permits, at the Kansas Department of Health and Environment, Division of Environment, Bureau of Water, 1000 S.W. Jackson, Suite 420, Topeka, 66612-1367.

All comments regarding the draft documents or application notices received on or before February 8 will be considered in the formulation of the final determinations regarding this public notice. Please refer to the appropriate Kansas document number (KS-AG-14-007/009) and name of the applicant/permittee when preparing comments.

After review of any comments received during the public notice period, the secretary of the Department of Health and Environment will issue a determination regarding final agency action on each draft document/application. If response to any draft document/application indicates significant public interest, a public hearing may be held in conformance with K.A.R. 28-16-61 (28-46-21 for UIC).

All draft documents/applications and the supporting information including any comments received are on file and may be inspected at the offices of the Kansas Department of Health and Environment, Bureau of Water. These documents are available upon request at the copying cost assessed by KDHE. Application information and components of plans and specifications for all new and expanding swine facilities are available on the Internet at <http://www.kdheks.gov/feedlots>. Division of Environment offices are open from 8 a.m. to 5 p.m. Monday through Friday, excluding holidays.

Robert Moser, M.D.  
Secretary of Health  
and Environment

Doc. No. 042218

State of Kansas

Kansas Lottery

Temporary Administrative Regulations

Article 4.—INSTANT GAMES AND DRAWINGS

**111-4-3295. “Duck Dynasty” instant ticket lottery game number 456.** (a) The Kansas lottery may conduct an instant winner lottery game entitled “Duck Dynasty.” The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3295.

(b) The “play and prize symbols” and “captions” for this game are as follows:

Play Symbols	Captions
1	ONE
2	TWO
3	THR
4	FOR
5	FIV
6	SIX
7	SEV
8	EGT
9	NIN
10	TEN
11	ELVN
12	TWLV
13	THRT
14	FORTN
15	FFTN
16	SXTN
17	SVTN
18	EGHTN
19	NINTN
20	TWNTY
Symbol of a duck call	AUTO

Prize Symbols	Captions
FREE	TICKET
\$1 <sup>00</sup>	ONE\$
\$2 <sup>00</sup>	TWO\$
\$5 <sup>00</sup>	FIVE\$
\$10 <sup>00</sup>	TEN\$
\$20 <sup>00</sup>	TWENTY
\$30 <sup>00</sup>	THRTY
\$50 <sup>00</sup>	FIFTY
\$100	ONEHUN
\$500	FIVHUN
\$1,000	ONETHO
\$10,000	10-THOU

(c) For this game, a play/prize symbol shall appear in 22 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 149.

(e) The price of instant tickets sold by a retailer for this game shall be \$2.00 each.

(f) In “Duck Dynasty” the player will scratch the play area to reveal two “WINNING NUMBERS” and 10 “YOUR NUMBERS” each shown with a prize amount on the same line. If a player matches either of the “WINNING NUMBERS” to any of the “YOUR NUMBERS,”

(continued)

the player wins the amount shown. If the player reveals a duck call symbol, the player wins the prize amount shown automatically.

(g) Each ticket in this game may win up to 10 times.

(h) Approximately 900,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

	Prize	Expected Number of Prizes in Game	Expected Value in Game
Free \$2 Ticket	Free Ticket	90,000	\$0
(\$1 x 2)	\$2	48,000	96,000
\$2	\$2	42,000	84,000
(\$1 x 5)	\$5	12,000	60,000
\$1 + (\$2 x 2)	\$5	12,000	60,000
\$5	\$5	6,000	30,000
(\$1 x 10)	\$10	6,000	60,000
(\$5 x 2)	\$10	3,000	30,000
\$10	\$10	3,000	30,000
(\$2 x 10)	\$20	6,000	120,000
(\$5 x 4)	\$20	3,000	60,000
\$20	\$20	3,000	60,000
(\$10 x 3)	\$30	1,125	33,750
\$10 + \$20	\$30	1,125	33,750
\$30	\$30	750	22,500
(\$10 x 5)	\$50	750	37,500
\$10 + (\$20 x 2)	\$50	495	24,750
\$50	\$50	375	18,750
(\$10 x 10)	\$100	75	7,500
(\$20 x 5)	\$100	30	3,000
\$100	\$100	30	3,000
(\$100 x 5)	\$500	30	15,000
\$500	\$500	30	15,000
(\$500 x 2)	\$1,000	30	30,000
\$1,000	\$1,000	15	15,000
\$10,000	\$1,000	6	60,000
TOTAL		<u>238,866</u>	<u>\$1,009,500</u>

(j) The odds of winning a prize in this game are approximately one in 3.77. (Authorized by K.S.A. 2013 Supp. 74-8710; implementing K.S.A. 2013 Supp. 74-8710, and K.S.A. 74-8720; effective, T-111-12-16-13, Oct. 16, 2013.)

**111-4-3296. "It's All Cash" instant ticket lottery game number 500.** (a) The Kansas lottery may conduct an instant winner lottery game entitled "It's All Cash." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3296.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
1	ONE
2	TWO
3	THREE
4	FOUR
5	FIVE
6	SIX
7	SEVEN
8	EIGHT

9	NINE
10	TEN
11	ELEVN
12	TWELV
13	THRTN
14	FORTN
15	FIFTN
16	SIXTN
17	SEVTN
18	EGHTN
19	NINTN
20	TWENTY
21	TWONE
22	TWTWO
23	TWTHR
24	TWFOR
25	TWFIV
26	TWSIX
27	TWSEV
28	TWEGT
29	TWNIN
30	THIRTY
31	THONE
32	THTWO
33	THTHR
34	THFOR
35	THFIV
2X	WIN2X
5X	WIN5X

Prize Symbols	Captions
FREE	\$10 TICKET
\$5 <sup>.00</sup>	FIVE\$
\$10 <sup>.00</sup>	TEN\$
\$20 <sup>.00</sup>	TWENTY
\$25 <sup>.00</sup>	TWEN-FIV
\$50 <sup>.00</sup>	FIFTY
\$100	HUNDRED
\$500	FIV-HUN
\$2,500	TFV-HUN
\$75,000	SVNFVTHO

(c) For this game, a play/prize symbol shall appear in 55 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 029.

(e) The price of instant tickets sold by a retailer for this game shall be \$10.00 each.

(f) In "It's All Cash" the player will scratch the play area to reveal five "WINNING NUMBERS" and 25 "YOUR NUMBERS" each with an associated prize symbol. If any of the "WINNING NUMBERS" match any of the "YOUR NUMBERS, the player wins the prize shown below that matching number. If the player reveals a "2X" symbol, the player wins double the prize instantly. If the player reveals a "5X" symbol, the player wins five times the prize instantly.

(g) Each ticket in this game may win up to 25 times.

(h) Approximately 300,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

Prize	Expected Number of Prizes in Game	Expected Value in Game	
Free \$10 Ticket	Free Ticket	30,000	\$0
\$10	\$10	5,000	50,000
\$5 + \$5	\$10	5,000	50,000
\$5 (2X)	\$10	12,000	120,000
\$20	\$20	2,500	50,000
\$10 + \$10	\$20	7,500	150,000
\$10 (2X)	\$20	10,000	200,000
\$25	\$25	4,000	100,000
\$5 + \$5 (2X) + \$10	\$25	8,000	200,000
\$5 (5X)	\$25	8,000	200,000
\$50	\$50	60	3,000
(\$5 x 2) + (\$10 x 2) + \$20	\$50	1,000	50,000
\$10 + \$20 (2X)	\$50	2,400	120,000
\$10 (5X)	\$50	1,540	77,000
\$100	\$100	100	10,000
(\$10 x 5) + \$50	\$100	500	50,000
\$50 (2X)	\$100	600	60,000
\$20 (5X)	\$100	800	80,000
\$500	\$500	4	2,000
(\$20 x 25)	\$500	18	9,000
\$100 (2X) + (\$50 x 6)	\$500	12	6,000
\$25 (2X) + \$50 (5X) + (\$100 x 2)	\$500	16	8,000
\$2,500	\$2,500	2	5,000
(\$100 (5X) x 2) + (\$50 (2X) x 10) + (\$25 (2X) x 10)	\$2,500	8	20,000
\$500 (2X) + (\$20 (5X) x 10) + (\$100 x 5)	\$2,500	6	15,000
(\$100 x 10) + (\$20 (5X) x 10) + (\$100 x 4) + \$20 (5X)	\$2,500	10	25,000
(\$2,500 (2X) x 10) + (\$500 (5X) x 10)	\$75,000	2	150,000
\$75,000	\$75,000	1	75,000
TOTAL		<u>99,079</u>	<u>\$1,885,000</u>

2X - Denotes double prize  
5X - Denotes five times prize

(j) The odds of winning a prize in this game are approximately one in 3.03. (Authorized by K.S.A. 2013 Supp. 74-8710; implementing K.S.A. 2013 Supp. 74-8710, and K.S.A. 74-8720; effective, T-111-12-16-13, Oct. 16, 2013.)

**111-4-3297. "Double Bonus Crossword" instant ticket lottery game number 561.** (a) The Kansas lottery may conduct an instant winner lottery game entitled "Double Bonus Crossword." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3297.

(b) The "play symbols" for the "YOUR LETTERS," "BONUS LETTERS," "BONUS WORD," and the crossword puzzle grid in this game are as follows: A - B - C - D - E - F - G - H - I - J - K - L - M - N - O - P - Q - R - S - T - U - V - W - X - Y - Z. There are no "play symbol captions" for the play symbols listed hereinabove.

The "prize symbols" and "prize symbol captions" for this game are as follows:

Prize Symbols	Captions
\$5. <sup>00</sup>	FIVE\$
\$10. <sup>00</sup>	TEN\$
\$25. <sup>00</sup>	TWEN-FIV
\$50. <sup>00</sup>	FIFTY

(c) For this game, a play symbol shall appear in each of 18 play spots within the "YOUR LETTERS" play area,

in each of two play spots within the "BONUS" play area, in each of the five play spots within the "BONUS WORD," and a variable number of times within the crossword puzzle grid.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 149.

(e) The price of instant tickets sold by a retailer for this game shall be \$2.00 each.

(f) "Double Bonus Crossword" consists of four play areas. In the upper part of the ticket there is a crossword puzzle grid that contains 11 spaces (height) by 11 spaces (width) covered by transparent latex. In the "YOUR LETTERS" play area, located in the lower part of the ticket, there are 18 letters located under opaque latex. To the right of the "YOUR LETTERS" play area is the "BONUS" play area in which there are two letters covered by opaque latex. Imaged around each of the 18 "YOUR LETTERS" and two "BONUS" letters there will be a four-sided box composed of solid lines. In the "BONUS WORD" play area, located below the "YOUR LETTERS," there is a "BONUS WORD" with a prize box. Imaged around each of the five "YOUR LETTERS" in the "BONUS WORD" there will be a four-sided box composed of solid lines. A player will remove the latex from the "YOUR LETTERS" and "BONUS" play areas one letter at a time, and then for each matching letter in the crossword puzzle grid and the "BONUS WORD" play area scratch off the transparent latex. Each letter revealed in the "YOUR LETTERS" and "BONUS" play areas may be used an unlimited number of times in the crossword puzzle grid. If a player reveals at least three complete words in the crossword puzzle grid, the player wins the corresponding prize in the prize legend. The prize legend on the front of the ticket indicates prizes won for number of words revealed. If a player reveals all letters in the "BONUS WORD," the player wins the prize shown in the prize box.

(g) To qualify as a complete word to win a prize in this game, the words revealed must meet the following requirements:

- (1) must contain at least three letters;
- (2) cannot be formed diagonally, run right to left or from bottom to top;
- (3) must appear in an unbroken horizontal or vertical string of letters in the "crossword" puzzle;
- (4) an unbroken string of letters cannot be interrupted by a black space and must contain every single letter square between two black spaces;
- (5) every single letter in the unbroken string must be revealed in "YOUR LETTERS," or "BONUS" areas and be included to form a word; and
- (6) the three small letters outside the squares in the "YOUR LETTERS" area are for validation purposes and cannot be used to play "Bonus Crossword."

(h) Each ticket in this game may win up to two times.

(i) Approximately 7,200,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.

(continued)

(j) The expected number and value of instant prizes in this game shall be as follows:

Match	Bonus Word	Prizes	Expected Number of Prizes in Game	Expected Value in Game
FREE		Free Ticket	1,200,000	\$0
\$5		\$5	312,000	1,560,000
	\$5	\$5	14,400	72,000
\$10		\$10	165,600	1,656,000
	\$10	\$10	8,160	81,600
\$10	\$5	\$15	5,760	86,400
\$20		\$20	55,200	1,104,000
\$10	\$10	\$20	4,800	96,000
	\$25	\$25	2,400	60,000
	\$50	\$50	1,200	60,000
\$100		\$100	7,200	720,000
\$500		\$500	1,020	510,000
\$2,000		\$2,000	240	480,000
\$20,000		\$20,000	30	600,000
TOTAL			<u>1,778,010</u>	<u>\$7,086,000</u>

(k) The odds of winning a prize in this game are approximately one in 4.05. (Authorized by K.S.A. 2013 Supp. 74-8710; implementing K.S.A. 2013 Supp. 74-8710, and K.S.A. 74-8720; effective, T-111-12-16-13, Oct. 16, 2013.)

**111-4-3298. "Extreme Cash Blast" instant ticket lottery game number 563.** (a) The Kansas lottery may conduct an instant winner lottery game entitled "Extreme Cash Blast." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3298.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
Symbol of a safe	SAFE
Symbol of a treasure chest	TRCHST
Symbol of a stack of bills	BILLS
Symbol of a wallet	WALLET
Symbol of a money clip	MNYCLP
Symbol of a piggy bank	PGYBNK
Symbol of a bomb	BOMB
Symbol of a blast	BLAST
Symbol of a cannon	CANNON
Symbol of a firecracker	FIRECRK
Symbol of a pot of gold	POTGLD
Symbol of a star	STAR
Symbol of a match	MATCH
Symbol of a horseshoe	SHOE
Symbol of a stick of dynamite	DYNMTE
Symbol of a volcano	VOLCAN
Symbol of the sun	SUN
Symbol of a lightning bolt	BOLT
Symbol of a heart	HEART
Symbol of a rainbow	RANBOW
Symbol of a gold bar	DBL
Symbol of a coin	DBL
01	ONE
02	TWO
03	THR
04	FOR
05	FIV
06	SIX
07	SEV

08	EGT
09	NIN
10	TEN
11	ELVN
12	TWLV
13	THRN
14	FRTN
15	FIFTN
16	SIXTN
17	SEVTN
18	EGTN
19	NINTN
20	TWNTY
21	TWYONE
22	TWYTWO
23	TWYTHR
24	TWYFOR
25	TWYFIV
26	TWYSIX
27	TWYSEV
28	TWYEGT
29	TWYNIN
30	THRTY
31	THRONE
32	THRTWO
33	THRTHR
34	THRFOR
35	THRFIV
36	THRSIX
37	THRSEV
38	THREGT
39	THRNIN
40	FORTY

Prize Symbols	Captions
\$5.00	FIVE\$
\$10.00	TEN\$
\$15.00	FIFTEEN
\$25.00	TWEN-FIV
\$50.00	FIFTY
\$75.00	SVTYFIV
\$100	ONE-HUN
\$500	FIVE-HUN
\$1000	ONETHOU
\$5000	FIVTHOU
\$25000	25-THOU

(c) For this game, a play/prize symbol shall appear in 63 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 059.

(e) The price of instant tickets sold by a retailer for this game shall be \$5.00 each.

(f) "Extreme Cash Blast" features six games and three play areas. In games 1 and 2, the player will scratch the play area to reveal three "WINNING SYMBOLS" and four "YOUR SYMBOLS" in each game with a prize amount shown below each of the "YOUR SYMBOLS." If a player matches any of the "WINNING SYMBOLS" to any of the "YOUR SYMBOLS" in either game 1 or game 2, the player wins the amount shown.

In games 3 and 4, the player will scratch the play area to reveal four "WINNING NUMBERS" and eight "YOUR

NUMBERS" in each game with a prize amount shown below each of the "YOUR NUMBERS." If a player matches any of the "WINNING NUMBERS" to any of the "YOUR NUMBERS" in either game 3 or game 4, the player wins the amount shown. If a player reveals a "COIN" symbol, the player wins double the prize shown.

In Games 5 and 6, the player will scratch the play are to reveal three play symbols and one prize amount in each game. If the player matches three identical symbols in the same game, the player wins the prize amount shown for that game. If the player matches two identical symbols and a "GOLD BAR" symbol in the same game, the player wins double the prize shown for that game.

(g) Each ticket in this game may win up to 26 times.

(h) Approximately 300,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

Prize	Expected Number of Prizes in Game	Expected Value in Game
\$5	36,000	180,000
\$10	7,500	75,000
\$5 + \$5	10,000	100,000
\$5 DBL	8,500	85,000
\$15	5,000	75,000
(\$5 x 2)	6,000	90,000
\$5 + (\$5 DBL)	7,000	105,000
\$25	400	10,000
\$10 + \$15	600	15,000
\$5 + (\$10 DBL)	700	17,500
(\$5 x 5)	700	17,500
\$50	200	10,000
(\$5 x 10)	200	10,000
(\$10 DBL) + (\$15 DBL)	150	7,500
\$25 DBL	150	7,500
\$25 + \$25	150	7,500
\$75	80	6,000
(\$5 x 15)	80	6,000
\$5 + \$10 + \$15 + \$25 + (\$10 DBL)	100	7,500
(\$5 x 10) + \$10 + \$15	120	9,000
\$100	20	2,000
(\$5 x 14) + (\$10 x 3)	25	2,500
(\$10 x 10)	25	2,500
(\$5 x 20)	30	3,000
\$10 + \$15 + \$25 + \$50	30	3,000
\$500	8	4,000
(\$10 x 20) + (\$50 x 6)	8	4,000
(\$25 x 10) + (\$75 x 2) + (\$50 DBL)	12	6,000
\$1,000	3	3,000
(\$25 x 16) + (\$50 x 8) + (\$100 x 2)	3	3,000
(\$75 DBL) + \$50 + \$100 + \$500 + (\$100 DBL)	3	3,000
(\$100 x 10)	3	3,000
\$5,000	2	10,000
(\$500 x 6) + (\$1,000 x 2)	2	10,000
\$25,000	3	75,000
<b>TOTAL</b>	<b><u>83,807</u></b>	<b><u>\$975,000</u></b>

DBL - denotes doubler

(j) The odds of winning a prize in this game are approximately one in 3.58. (Authorized by K.S.A. 2013 Supp. 74-8710; implementing K.S.A. 2013 Supp. 74-8710,

and K.S.A. 74-8720; effective, T-111-12-16-13, Oct. 16, 2013.)

**111-4-3299. "Joker's Wild" instant ticket lottery game number 564.** (a) The Kansas lottery may conduct an instant winner lottery game entitled "Joker's Wild." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3299.

(b) The "play and prize symbols" and "captions" for this game are as follows:

"YOUR CARDS" Play Symbols	Captions
3	THR
4	FOR
5	FIV
6	SIX
7	SEV
8	EGT
9	NIN
10	TEN
J	JAK
Q	QEN
K	KNG
A	ACE
Symbol of a joker	DBL
"THEIR CARDS" Play Symbols	Captions
2	TWO
3	THR
4	FOR
5	FIV
6	SIX
7	SEV
8	EGT
9	NIN
10	TEN
J	JAK
Q	QEN
K	KNG
Prize Symbols	Captions
FREE	TICKET
\$2. <sup>00</sup>	TWO\$
\$4. <sup>00</sup>	FOUR\$
\$5. <sup>00</sup>	FIVE\$
\$10. <sup>00</sup>	TEN\$
\$25. <sup>00</sup>	TWEN-FIV
\$50. <sup>00</sup>	FIFTY
\$150	ONHNFTY
\$1000	ONETHOU
\$10000	10-THOU

(c) For this game, a play/prize symbol shall appear in 21 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 149.

(e) The price of instant tickets sold by a retailer for this game shall be \$2.00 each.

(f) "Joker's Wild" is a beat the score game with instant win and doubler features. The player will scratch the play area to reveal seven "HANDS." Each "HAND" consists of one "YOUR CARD" number, one "THEIR CARD" number, and a prize amount. If "YOUR CARD" beats

(continued)

“THEIR CARD” in any one “HAND,” the player wins the prize shown for that “HAND.” Aces are high. If a player reveals a “JOKER” symbol in any “HAND,” the player wins double the corresponding prize for that “HAND.”

(g) Each ticket in this game may win up to seven times.

(h) Approximately 900,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

Prize	Expected Number of Prizes in Game	Expected Value in Game
Free	Free Ticket	120,000 \$0
\$2	\$2	36,000 72,000
\$4	\$4	10,500 42,000
\$2 DBL	\$4	12,000 48,000
\$5	\$5	15,000 75,000
\$10	\$10	10,500 105,000
\$5 DBL	\$10	10,500 105,000
\$25	\$25	3,000 75,000
(\$5 x 5)	\$25	3,000 75,000
\$10 DBL + \$5	\$25	3,000 75,000
\$50	\$50	720 36,000
\$25 + (\$10 x 2) + \$5	\$50	750 37,500
\$25 + (\$5 x 5)	\$50	900 45,000
\$25 DBL	\$50	600 30,000
\$150	\$150	90 13,500
(\$25 x 2) + (\$10 x 3) + \$50 + \$10 DBL	\$150	90 13,500
\$1,000	\$1,000	15 15,000
\$150 DBL + (\$150 x 4) + (\$50 x 2)	\$1,000	15 15,000
\$10,000	\$10,000	9 90,000
<b>TOTAL</b>		<u>226,689</u> <u>\$967,500</u>

(j) The odds of winning a prize in this game are approximately one in 3.97. (Authorized by K.S.A. 2013 Supp. 74-8710; implementing K.S.A. 2013 Supp. 74-8710, and K.S.A. 74-8720; effective, T-111-12-16-13, Oct. 16, 2013.)

**111-4-3300. “2x2” instant ticket lottery game number 565.** (a) The Kansas lottery may conduct an instant winner lottery game entitled “2x2.” The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3300.

(b) The “play and prize symbols” and “captions” for this game are as follows:

Play Symbols	Captions
Symbol of a sheep	SHEEP
Symbol of a toucan	TOUCAN
Symbol of a monkey	MONKEY
Symbol of a lion	LION
Symbol of a hippopotamus	HIPPO
Symbol of a giraffe	GIRAFE
Symbol of a frog	FROG
Symbol of a camel	CAMEL
Symbol of a zebra	ZEBRA
Symbol of an elephant	ELPHINT
Prize Symbols	Captions
FREE	TICKET

\$1.00	ONE\$
\$2.00	TWO\$
\$5.00	FIVE\$
\$10.00	TEN\$
\$15.00	FIFTEEN
\$25.00	TWEN-FIV
\$50.00	FIFTY
\$100	ONE-HUN
\$500	FIVE-HUN
\$2000	TWOTHOU

(c) For this game, a play/prize symbol shall appear in nine play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.

(e) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.

(f) The “2x2” ticket features a key symbol match game. The player will scratch the entire ark play area to reveal three “ROWS.” Each “ROW” consists of two animal symbols and one prize amount. If the player matches two identical animal symbols in the same “ROW,” the player wins the prize amount shown for that “ROW.”

(g) Each ticket in this game may win up to three times.

(h) Approximately 900,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

Prize	Expected Number of Prizes in Game	Expected Value in Game
Free	Free Ticket	60,000 \$0
\$1	\$1	75,000 75,000
\$2	\$2	19,500 39,000
(\$1 x 2)	\$2	19,500 39,000
\$5	\$5	9,000 45,000
(\$2 x 2) + \$1	\$5	9,000 45,000
\$10	\$10	3,000 30,000
(\$5 x 2)	\$10	3,000 30,000
\$15	\$15	1,500 22,500
(\$5 x 3)	\$15	1,500 22,500
(\$10 x 2)	\$20	1,200 24,000
\$15 + \$5	\$20	1,200 24,000
\$25	\$25	600 15,000
(\$5 x 2) + \$15	\$25	600 15,000
\$50	\$50	210 10,500
(\$25 x 2)	\$50	195 9,750
\$100	\$100	45 4,500
(\$50 x 2)	\$100	45 4,500
(\$25 x 2) + \$50	\$100	45 4,500
\$500	\$500	24 12,000
\$2,000	\$2,000	9 18,000
<b>TOTAL</b>		<u>205,173</u> <u>\$489,750</u>

(j) The odds of winning a prize in this game are approximately one in 4.39. (Authorized by K.S.A. 2013 Supp. 74-8710; implementing K.S.A. 2013 Supp. 74-8710, and K.S.A. 74-8720; effective, T-111-12-16-13, Oct. 16, 2013.)

**111-4-3301. “Golden Glitter” instant ticket lottery game number 566.** (a) The Kansas lottery may con-

duct an instant winner lottery game entitled "Golden Glitter." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3301.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
Symbol of a gold bar	GLDBAR
Symbol of a pot of gold	POTGLD
Symbol of a coin	COIN
Symbol of a stack of money	MONEY
Symbol of a golden nugget	GLDNGT
Symbol of a crown	CROWN
Symbol of a treasure chest	TRCHST
Symbol of a necklace	NCKLAC
Symbol of a diamond	DIAMND
Symbol of a ring	RING
Symbol of a watch	WATCH

Prize Symbols	Captions
FREE	TICKET
\$1 <sup>00</sup>	ONE\$
\$3 <sup>00</sup>	THR\$
\$5 <sup>00</sup>	FIVE\$
\$9 <sup>00</sup>	NINE\$
\$10 <sup>00</sup>	TEN\$
\$15 <sup>00</sup>	FIFTEEN
\$30 <sup>00</sup>	THIRTY
\$90 <sup>00</sup>	NINETY
\$100	ONE-HUN
\$300	THR-HUN
\$900	NINE-HUN
\$3000	THRTHOU

(c) For this game, a play/prize symbol shall appear in 11 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.

(e) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.

(f) "Golden Glitter" is a key symbol match game. The player will scratch the play area to reveal one "GOLD SYMBOL," five "YOUR SYMBOLS," and five prize amounts. If the player matches the "GOLD SYMBOL" to any of the "YOUR SYMBOLS," the player wins the prize shown below that symbol.

(g) Each ticket in this game may win up to five times.

(h) Approximately 900,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

Prize	Expected Number of Prizes in Game	Expected Value in Game
Free	Free Ticket	\$0
\$1	\$1	66,000
\$3	\$3	22,500
(\$1 x 3)	\$3	21,000
\$9	\$9	3,750
(\$3 x 3)	\$9	3,750
(\$3 x 2) + (\$1 x 3)	\$9	3,000

\$15	\$15	1,200	18,000
(\$3 x 5)	\$15	1,200	18,000
(\$5 x 3)	\$15	1,200	18,000
(\$3 x 2) + (\$3 x 3)	\$15	1,200	18,000
\$30	\$30	300	9,000
(\$10 x 3)	\$30	300	9,000
(\$15 x 2)	\$30	225	6,750
(\$5 x 4) + \$10	\$30	300	9,000
\$90	\$90	75	6,750
(\$30 x 3)	\$90	75	6,750
(\$15 x 2) + (\$30 x 2)	\$90	75	6,750
\$300	\$300	30	9,000
(\$100 x 3)	\$300	30	9,000
\$900	\$900	15	13,500
(\$300 x 3)	\$900	15	13,500
\$3,000	\$3,000	9	27,000
TOTAL		<u>186,249</u>	<u>\$489,000</u>

(j) The odds of winning a prize in this game are approximately one in 4.83. (Authorized by K.S.A. 2013 Supp. 74-8710; implementing K.S.A. 2013 Supp. 74-8710, and K.S.A. 74-8720; effective, T-111-12-16-13, Oct. 16, 2013.)

**111-4-3302. "Wild 7s Doubler" instant ticket lottery game number 567.** (a) The Kansas lottery may conduct an instant winner lottery game entitled "Wild 7s Doubler." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3302.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
01	ONE
02	TWO
03	THR
04	FOR
05	FIV
06	SIX
7 (outlined)	SEV
08	EGT
09	NIN
W (outlined)	WIN

Prize Symbols	Captions
FREE	TICKET
\$1 <sup>00</sup>	ONE\$
\$2 <sup>00</sup>	TWO\$
\$4 <sup>00</sup>	FOUR\$
\$5 <sup>00</sup>	FIVE\$
\$7 <sup>00</sup>	SEV\$
\$10 <sup>00</sup>	TEN\$
\$20 <sup>00</sup>	TWENTY
\$80 <sup>00</sup>	EIGHTY
\$100	ONE-HUN
\$250	TWOFIFTY
\$500	FIVE-HUN
\$2,777	TWSVSVTSV

(c) For this game, a play/prize symbol shall appear in 12 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.

(e) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.

(continued)

(f) "Wild 7s Doubler" is a key symbol match game. The player will scratch the play area to reveal four games. Each game consists of two numbers and a prize amount. If the player reveals a "7" symbol in any game, the player wins the prize shown for that game. If the player reveals two "7" symbols in any one game, the player wins double the prize for that game. If the player reveals a "W" symbol in any game, the player wins \$7 instantly. Each game is played separately.

(g) Each ticket in this game may win up to four times.

(h) Approximately 900,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

Prize	Expected Number of Prizes in Game	Expected Value in Game
Free	60,000	\$0
\$1	52,500	52,500
\$2	18,000	36,000
\$1 (DBL)	15,000	30,000
(\$1 x 2)	15,000	30,000
\$4	10,500	42,000
(\$1 x 4)	7,500	30,000
\$2 (DBL)	7,500	30,000
\$7	9,000	63,000
\$2 (DBL) + \$2 + \$1	4,200	29,400
\$20	1,500	30,000
\$10 (DBL)	900	18,000
(\$5 x 4)	900	18,000
\$80	210	16,800
(\$20 x 4)	210	16,800
\$100	30	3,000
\$500	12	6,000
\$250 (DBL)	12	6,000
\$2,777	12	33,324
<b>TOTAL</b>	<b>202,986</b>	<b>\$490,824</b>

DBL - denotes double prize

(j) The odds of winning a prize in this game are approximately one in 4.43. (Authorized by K.S.A. 2013 Supp. 74-8710; implementing K.S.A. 2013 Supp. 74-8710, and K.S.A. 74-8720; effective, T-111-12-16-13, Oct. 16, 2013.)

**111-4-3303. "Fabulous 5s" instant ticket lottery game number 568.** (a) The Kansas lottery may conduct an instant winner lottery game entitled "Fabulous 5s." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3303.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
5	FIVE
Prize Symbols	Captions
FREE	TICKET
\$1 <sup>.00</sup>	ONE\$
\$2 <sup>.00</sup>	TWO\$
\$10 <sup>.00</sup>	TEN\$
\$25 <sup>.00</sup>	TWEN-FIV

\$100  
\$1,000

ONE-HUN  
ONETHOU

(c) For this game, a play/prize symbol shall appear in six play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.

(e) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.

(f) "Fabulous 5s" combines two different game plays within the same play area. A player can win by matching three of six prize amounts or by revealing one or more "5" symbols to win a prize according to the prize legend on the ticket front. The player will scratch the play area to reveal six prize amounts/play symbols. If three of the six prize amounts are identical, the player wins that prize amount. If a player reveals from one to four "5" symbols, the player wins a prize according to the prize legend on the ticket front.

The prize legend on the ticket front is as follows: one 5 equals \$5, two 5s equal \$50, three 5s equal \$500, four 5s equal \$5,000.

(g) Each ticket in this game may win up to one time.

(h) Approximately 900,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

Prize	Expected Number of Prizes in Game	Expected Value in Game
3 - Free's	60,000	\$0
3 - \$1.00's	59,100	59,100
3 - \$2.00's	44,100	88,200
One 5	\$5	21,000
	\$10	6,900
3 - \$10.00's	3,120	78,000
3 - \$25.00's	570	28,500
Two 5's	\$50	180
	\$100	18
3 - \$100.00's	6	9,000
Three 5's	\$500	6
	\$1,000	6
3 - \$1,000.00's	6	30,000
Four 5's	6	30,000
<b>TOTAL</b>	<b>195,000</b>	<b>\$490,800</b>

(j) The odds of winning a prize in this game are approximately one in 4.62. (Authorized by K.S.A. 2013 Supp. 74-8710; implementing K.S.A. 2013 Supp. 74-8710, and K.S.A. 74-8720; effective, T-111-12-16-13, Oct. 16, 2013.)

**111-4-3304. "\$100,000 Crossword" instant ticket lottery game number 574.** (a) The Kansas lottery may conduct an instant winner lottery game entitled "\$100,000 Crossword." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3304.

(b) The "play symbols" for this game are as follows: A - B - C - D - E - F - G - H - I - J - K - L - M - N - O - P - Q - R - S - T - U - V - W - X - Y - Z - and symbol of a money bag. There are no "play symbol captions" in this game puzzle.

(c) For this game, a play symbol shall appear in each of 20 play spots within the "YOUR LETTERS" play area, in each of five play spots within the "BONUS WORD"

play area, and a variable number of times within the crossword puzzle grid.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 029.

(e) The price of instant tickets sold by a retailer for this game shall be \$10.00 each.

(f) The "\$100,000 Crossword" game consists of two separate crossword puzzles, with four separate play areas. The play areas include "YOUR LETTERS," "DOUBLER PUZZLE" (Puzzle 1), "MEGA PUZZLE" (Puzzle 2), and a "BONUS WORD." The player will scratch the "YOUR LETTERS" play area to reveal 20 "YOUR LETTERS." The player will then match each "YOUR LETTER" with the corresponding letters in each crossword puzzle and the "BONUS WORD" by removing the translucent scratch-off material covering the matching letter. A player wins according to the prize legend associated with each crossword puzzle. Each puzzle plays separately.

In the "DOUBLER PUZZLE" (Puzzle 1), if the player scratches three or more completed words, the player wins the corresponding prize in the prize legend. If one of the winning combinations shown in the prize legend has a completed word with a "MONEY BAG" symbol, the player wins double the prize. Only the highest corresponding prize can be won. A player can win once on this puzzle.

In the "MEGA PUZZLE" (Puzzle 2), if a player scratches five or more completed words, the player wins the corresponding prize in the prize legend. Only the

highest corresponding prize can be won. A player can win once in this puzzle.

In the "BONUS WORD" play area, if the player completely uncovers the "BONUS WORD" using "YOUR LETTERS," the player wins \$15 instantly.

(g) To qualify as a complete word to win a prize in this game, the words revealed must meet the following requirements:

- (1) must contain at least three letters;
- (2) cannot be formed diagonally, run right to left or from bottom to top;
- (3) must appear in an unbroken horizontal or vertical string of letters in the "crossword" puzzle;
- (4) an unbroken string of letters cannot be interrupted by a black space and must contain every single letter square between two black spaces;
- (5) every single letter in the unbroken string must be revealed in "YOUR LETTERS," and be included to form a word; and
- (6) the three small letters outside the squares in the "YOUR LETTERS" area are for validation purposes and cannot be used to play "\$100,000 Crossword."

(h) Each ticket in this game may win up to three times

(i) Approximately 600,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(j) The expected number and value of instant prizes in this game shall be as follows:

Puzzle 1	Puzzle 2	Bonus Word	Prize	Expected Number of Prizes in Game	Expected Value in Game
3 words			\$10	44,000	\$440,000
	5 words		\$10	44,000	440,000
		\$15	\$15	42,000	630,000
4 words			\$20	10,000	200,000
3 words (dbl)			\$20	10,000	200,000
3 words	5 words		\$20	10,000	200,000
5 words			\$25	6,000	150,000
	6 words		\$25	6,000	150,000
3 words		\$15	\$25	6,000	150,000
	5 words	\$15	\$25	6,000	150,000
6 words			\$50	1,000	50,000
4 words (dbl)	5 words		\$50	1,000	50,000
5 words (dbl)			\$50	1,000	50,000
	7 words		\$50	1,000	50,000
5 words	6 words		\$50	1,000	50,000
3 words	6 words	\$15	\$50	900	45,000
5 words	5 words	\$15	\$50	900	45,000
7 words			\$75	450	33,750
	8 words		\$75	450	33,750
6 words	6 words		\$75	450	33,750
5 words	7 words		\$75	450	33,750
8 words			\$100	260	26,000
6 words (dbl)			\$100	260	26,000
	9 words		\$100	260	26,000
6 words	7 words		\$100	260	26,000
3 words	8 words	\$15	\$100	250	25,000
	10 words		\$200	200	40,000
7 words (dbl)	7 words		\$200	200	40,000

(continued)

8 words (dbl)		\$200	200	40,000
9 words		\$500	120	60,000
	11 words	\$500	120	60,000
9 words (dbl)		\$1,000	28	28,000
	12 words	\$1,000	28	28,000
9 words	11 words	\$1,000	28	28,000
	13 words	\$10,000	6	60,000
	14 words	\$100,000	5	500,000
TOTAL			<u>194,825</u>	<u>\$4,198,000</u>

dbl - denotes "Money Bag" doubler feature

(k) The odds of winning a prize in this game are approximately one in 3.08. (Authorized by K.S.A. 2013 Supp. 74-8710; implementing K.S.A. 2013 Supp. 74-8710, and K.S.A. 74-8720; effective, T-111-12-16-13, Oct. 16, 2013.)

**111-4-3305. "Bejeweled Bingo" instant ticket lottery game number 650.** (a) The Kansas lottery shall conduct an instant winner lottery game entitled "Bejeweled Bingo." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3305.

(b) The "play/game symbols" for the four "BINGO CARD" play areas for this game are as follows:

01	02	03	04	05	06	07	08	09	10
11	12	13	14	15	16	17	18	19	20
21	22	23	24	25	26	27	28	29	30
31	32	33	34	35	36	37	38	39	40
41	42	43	44	45	46	47	48	49	50
51	52	53	54	55	56	57	58	59	60
61	62	63	64	65	66	67	68	69	70
71	72	73	74	75	FREE	Symbol of a diamond			

In the "CALLER'S CARD" play area, a letter/number combination game/play symbol appears in each of the 24 play spots. Play symbols for the "CALLER'S CARD" play area for this instant game are the following:

B01	I16	N31	G46	O61
B02	I17	N32	G47	O62
B03	I18	N33	G48	O63
B04	I19	N34	G49	O64
B05	I20	N35	G50	O65
B06	I21	N36	G51	O66
B07	I22	N37	G52	O67
B08	I23	N38	G53	O68
B09	I24	N39	G54	O69
B10	I25	N40	G55	O70
B11	I26	N41	G56	O71
B12	I27	N42	G57	O72
B13	I28	N43	G58	O73
B14	I29	N44	G59	O74
B15	I30	N45	G60	O75

Play symbols for the "BONUS GAME" play area for this instant game are the following:

<b>Play Symbols</b>	<b>Captions</b>
Symbol of an emerald	EMERALD
Symbol of a ring	RING
Symbol of a star	STAR

Symbol of a ruby	RUBY
Symbol of a necklace	NECKLACE
Symbol of a coin	COIN
Symbol of the moon	MOON
Symbol of a gold bar	GOLD BAR

(c) The ticket numbers in each book of tickets in this game shall start with 000 and end with 149.

(d) The price of instant tickets sold by a retailer for this game shall be \$2.00 each.

(e) "Bejeweled Bingo" is a two-part vertically oriented game. The first part consists of the "CALLER'S CARD." The "CALLER'S CARD" contains 24 draw numbers covered by opaque latex.

The second part consists of four "BINGO CARDS" each containing 23 numbers, a "DIAMOND" symbol placed randomly, and a "FREE" space in the center of each card, for a total of 25 squares. The free space and "DIAMOND" symbol may be counted as numbers to form winning patterns. The "BINGO CARDS" are each covered by translucent scratch-off material.

A player removes the scratch-off material from the areas on the ticket indicated by the words "CALLER'S CARD" to reveal a total of 24 draw numbers. A player wins by matching the "CALLER'S CARD" to the numbers on the four "BINGO CARDS." If the player finds a diagonal, vertical, or horizontal straight line of at least five squares, or four corners of the grid, or an "X" pattern, the player wins a prize according to the prize legend beside the respective "BINGO CARD." If the player reveals a "DIAMOND" symbol which is part of any winning pattern, the player wins triple the prize according to the prize legend beside the respective "BINGO CARD."

The player will scratch the "\$25 BONUS" play area to reveal three play symbols. If the player reveals three matching play symbols in the "\$25 BONUS" area, the player wins \$25 instantly.

(f) Each ticket in this game may win up to five times. Only one prize may be claimed on each of the four "BINGO CARDS."

(g) Approximately 1,200,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

Card 1	Card 2	Card 3	Card 4	\$25 Bonus	Prizes	Expected Number of Prizes in Game	Expected Value in Game
Line \$2					\$2	104,000	\$208,000
	Line \$3				\$3	96,000	288,000
Line \$2	Line \$3				\$5	56,000	280,000
Line \$2 (3X)					\$6	24,000	144,000
	Line \$3	Line \$5			\$8	8,000	64,000
	Line \$3 (3X)				\$9	4,000	36,000
Line \$2 (3X)	Line \$3				\$9	4,000	36,000
Line \$2	Line \$3	Line \$5			\$10	4,000	40,000
			Line \$10		\$10	1,000	10,000
Line \$2	Line \$3		Line \$10		\$15	1,000	15,000
		Line \$5 (3X)			\$15	1,000	15,000
Line \$2 (3X)	Line \$3 (3X)				\$15	1,500	22,500
		Line \$5	Line \$10		\$15	500	7,500
4Corners \$10			Line \$10		\$20	500	10,000
	4 Corners \$20				\$20	500	10,000
Line \$2 (3X)	Line \$3 (3X)	Line \$5			\$20	1,000	20,000
Line \$2	Line \$3	Line \$5	Line \$10		\$20	1,000	20,000
				\$25.00	\$25	2,000	50,000
			Line \$10 (3X)		\$30	800	24,000
Line \$2	Line \$3	Line \$5 (3X)	Line \$10		\$30	800	24,000
Line \$2	Line \$3			\$25.00	\$30	1,400	42,000
			4 Corners \$100		\$100	120	12,000
X \$100					\$100	40	4,000
4 Corners \$10 (3X)	4Corners \$20 (3X)		Line \$10		\$100	80	8,000
Line \$2 (3X)	Line \$3 (3X)	4 Corners \$50	Line \$10	\$25.00	\$100	332	33,200
		4 Corners \$50	4 Corners \$100		\$150	32	4,800
		4 Corners \$50 (3X)			\$150	8	1,200
	4 Corners \$20	Line \$5	4 Corners \$100	\$25.00	\$150	12	1,800
X\$100	4 Corners \$20	4 Corners \$50	Line \$10		\$180	8	1,440
4 Corners \$10	4 Corners \$20	4 Corners \$50	4 Corners \$100		\$180	8	1,440
Line \$2	Line \$3	4 Corners \$50 (3X)		\$25.00	\$180	12	2,160
	X \$500				\$500	2	1,000
4 Corners \$10 (3X)	4 Corners \$20	4 Corners \$50 (3X)	4 Corners \$100 (3X)		\$500	4	2,000
X \$100	4 Corners \$20 (3X)	Line \$5 (3X)	4 Corners \$100 (3X)	\$25.00	\$500	4	2,000
		X \$1,000			\$1,000	8	8,000
			X \$10,000		\$10,000	4	40,000
TOTAL						<u>313,674</u>	<u>\$1,489,040</u>

(j) The odds of winning a prize in this game are approximately one in 3.83. (Authorized by K.S.A. 2013 Supp. 74-8710, implementing K.S.A. 2013 Supp. 74-8710, and K.S.A. 74-8720; effective, T-111-12-16-13, Oct. 16, 2013.)

**Article 9.—PULL-TAB GAMES**

**111-9-199. “Crazy Frogs” pull tab ticket lottery game number 569.** (a) The Kansas lottery shall conduct a pull tab lottery game entitled “Crazy Frogs.” The rules for this game are contained in K.A.R. 111-8-1 *et seq.* and K.A.R. 111-9-199.

(b) The price of pull tab tickets sold by a retailer for this game shall be \$1.00 each.

(c) Approximately 1,200,000 tickets shall be ordered initially for this pull tab game which shall be packaged in packs of 300 tickets each. The ticket numbers in each pack in this game shall start with 000 and end with 299. Additional ticket orders shall have the same prize structure, the same number of prizes per pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(d) The play symbols for this game are as follows:

- Symbol of a toad
- Symbol of a tadpole

- Symbol of a bullrush plant
- Symbol of a frog head
- Symbol of a lily pad
- Symbol of a silly frog

(e) For this game, three play symbols shall appear under each of four tabs on the back of each ticket. On the front of each ticket shall appear a legend of all winning combinations using the play symbols for this game along with the corresponding prize amount for each combination, as follows: three symbols of a toad equal \$1.00; three symbols of a tadpole equal \$5.00; three symbols of a bullrush plant equal \$10.00; three symbols of a frog head equal \$25.00; three symbols of a lily pad equal \$100.00; three symbols of a silly frog equal \$1,000.00.

(f) All tabs on the back of each ticket are to be pulled open. For each combination of three play symbols matching the legend on the front of the ticket, the player wins the prize amount corresponding to each combination as shown in (e) above. All winning combinations shall be within a single window in a horizontal line.

(g) The number and value of prizes in this game and winning combinations shall be as follows: (See corresponding play symbol values in subsection (e) above.)

*(continued)*

Get	Prizes	Expected Number of Prizes in Game	Expected Value in Game
\$1	\$1	220,000	\$220,000
\$5	\$5	40,000	200,000
\$1 + \$5	\$6	24,000	144,000
\$10	\$10	6,000	60,000
\$5 + \$10	\$15	1,600	24,000
\$5 + \$5 + \$5	\$15	1,600	24,000
\$25	\$25	800	20,000
\$10 + \$10 + \$5	\$25	940	23,500
\$10 + \$25	\$35	540	18,900
\$10 + \$10 + \$10 + \$5	\$35	560	19,600
\$100	\$100	420	42,000
\$1,000	\$1,000	20	20,000
TOTAL		<u>296,480</u>	<u>\$816,000</u>

Get	Prizes	Expected Number of Prizes in Game	Expected Value in Game
\$1	\$1	220,000	\$220,000
\$5	\$5	40,000	200,000
\$1 + \$5	\$6	24,000	144,000
\$10	\$10	6,000	60,000
\$5 + \$10	\$15	1,600	24,000
\$5 + \$5 + \$5	\$15	1,600	24,000
\$25	\$25	800	20,000
\$10 + \$10 + \$5	\$25	940	23,500
\$10 + \$25	\$35	540	18,900
\$10 + \$10 + \$10 + \$5	\$35	560	19,600
\$100	\$100	420	42,000
\$1,000	\$1,000	20	20,000
TOTAL		<u>296,480</u>	<u>\$816,000</u>

(h) Each ticket in this game may have up to four winning combinations.

(i) The overall odds of winning a prize in this game are approximately one in 4.05. (Authorized by K.S.A. 2013 Supp. 74-8710; implementing K.S.A. 2013 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-12-16-13, Oct. 16, 2013.)

**111-9-200. "Rise & Shine" pull tab ticket lottery game number 570.** (a) The Kansas lottery shall conduct a pull tab lottery game entitled "Rise & Shine." The rules for this game are contained in K.A.R. 111-8-1 *et seq.* and K.A.R. 111-9-200.

(b) The price of pull tab tickets sold by a retailer for this game shall be \$1.00 each.

(c) Approximately 1,200,000 tickets shall be ordered initially for this pull tab game which shall be packaged in packs of 300 tickets each. The ticket numbers in each pack in this game shall start with 000 and end with 299. Additional ticket orders shall have the same prize structure, the same number of prizes per pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(d) The play symbols for this game are as follows:

- Symbol of a person yawning
- Symbol of a bed
- Symbol of a person sleeping on a pillow
- Symbol of a cup of coffee
- Symbol of an alarm clock
- Symbol of the sun

(e) For this game, three play symbols shall appear under each of four tabs on the back of each ticket. On the front of each ticket shall appear a legend of all winning combinations using the play symbols for this game along with the corresponding prize amount for each combination, as follows: three symbols of a person yawning equal \$1.00; three symbols of a bed equal \$5.00; three symbols of a person sleeping on a pillow equal \$10.00; three symbols of a cup of coffee equal \$25.00; three symbols of an alarm clock equal \$100.00; three symbols of the sun equal \$1,000.00.

(f) All tabs on the back of each ticket are to be pulled open. For each combination of three play symbols matching the legend on the front of the ticket, the player wins the prize amount corresponding to each combination as shown in (e) above. All winning combinations shall be within a single window in a horizontal line.

(g) The number and value of prizes in this game and winning combinations shall be as follows: (See corresponding play symbol values in subsection (e) above.)

(h) Each ticket in this game may have up to four winning combinations.

(i) The overall odds of winning a prize in this game are approximately one in 4.05. (Authorized by K.S.A. 2013 Supp. 74-8710; implementing K.S.A. 2013 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-12-16-13, Oct. 16, 2013.)

**111-9-201. "Planet Payout" pull tab ticket lottery game number 571.** (a) The Kansas lottery shall conduct a pull tab lottery game entitled "Planet Payout." The rules for this game are contained in K.A.R. 111-8-1 *et seq.* and K.A.R. 111-9-201.

(b) The price of pull tab tickets sold by a retailer for this game shall be \$1.00 each.

(c) Approximately 1,200,000 tickets shall be ordered initially for this pull tab game which shall be packaged in packs of 300 tickets each. The ticket numbers in each pack in this game shall start with 000 and end with 299. Additional ticket orders shall have the same prize structure, the same number of prizes per pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(d) The play symbols for this game are as follows:

- Symbol of money (bills)
- Symbol of a planet
- Symbol of a space ship
- Symbol of a telescope
- Symbol of a meteor
- Symbol of an alien

(e) For this game, three play symbols shall appear under each of four tabs on the back of each ticket. On the front of each ticket shall appear a legend of all winning combinations using the play symbols for this game along with the corresponding prize amount for each combination, as follows: three symbols of money (bills) equal \$1.00; three symbols of a planet equal \$5.00; three symbols of a space ship equal \$10.00; three symbols of a telescope equal \$25.00; three symbols of a meteor equal \$100.00; three symbols of an alien equal \$1,000.00.

(f) All tabs on the back of each ticket are to be pulled open. For each combination of three play symbols matching the legend on the front of the ticket, the player wins the prize amount corresponding to each combination as shown in (e) above. All winning combinations shall be within a single window in a horizontal line.

(g) The number and value of prizes in this game and winning combinations shall be as follows: (See corresponding play symbol values in subsection (e) above.)

Get	Prizes	Expected Number of Prizes in Game	Expected Value in Game
\$1	\$1	220,000	\$220,000
\$5	\$5	40,000	200,000
\$1 + \$5	\$6	24,000	144,000
\$10	\$10	6,000	60,000
\$5 + \$10	\$15	1,600	24,000
\$5 + \$5 + \$5	\$15	1,600	24,000
\$25	\$25	800	20,000
\$10 + \$10 + \$5	\$25	940	23,500
\$10 + \$25	\$35	540	18,900
\$10 + \$10 + \$10 + \$5	\$35	560	19,600
\$100	\$100	420	42,000
\$1,000	\$1,000	20	20,000
TOTAL		<u>296,480</u>	<u>\$816,000</u>

(h) Each ticket in this game may have up to four winning combinations.

(i) The overall odds of winning a prize in this game are approximately one in 4.05. (Authorized by K.S.A. 2013 Supp. 74-8710; implementing K.S.A. 2013 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-12-16-13, Oct. 16, 2013.)

**111-9-202. "Panning for Gold" pull tab ticket lottery game number 572.** (a) The Kansas lottery may conduct a pull tab lottery game entitled "Panning for Gold." The rules for this game are contained in K.A.R. 111-8-1 *et seq.* and K.A.R. 111-9-202.

(b) The price of pull tab tickets sold by a retailer for this game shall be \$2.00 each.

(c) Approximately 900,000 tickets shall be ordered initially for this pull tab game that shall be packaged in packs of 150 tickets each. The ticket numbers in each pack in this game shall start with 000 and end with 149. Additional ticket orders shall have the same prize structure, the same number of prizes per pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(d) The play symbols for this game are as follows:

- Symbol of a mule
- Symbol of a gold mining pan
- Symbol of a gold miner
- Symbol of a gold coin
- Symbol of a gold bar
- Symbol of a mining cart
- Symbol of a horseshoe
- Symbol of a treasure chest

(e) For this game, three play symbols shall appear under each of eight tabs on the back of each ticket. On the front of each ticket shall appear a legend of all winning combinations using the play symbols for this game along with the corresponding prize amount for each combination, as follows: three symbols of a mule equal \$2.00; three symbols of a gold mining pan equal \$5.00; three symbols of a gold miner equal \$10.00; three symbols of a gold coin equal \$25.00; three symbols of a gold bar equal \$50.00; three symbols of a mining cart equal \$100.00; three symbols of a horseshoe equal \$250.00; three symbols of a treasure chest equal \$2,500.00.

(f) All tabs on the back of each ticket are to be pulled open. For each combination of three play symbols matching the legend on the front of the ticket, the player wins the prize amount corresponding to each combination as shown in (e) above. All winning combinations shall be within a single window in a horizontal line.

(g) The number and value of prizes in this game and winning combinations shall be as follows: (See corresponding play symbol values in subsection (e) above.)

Get	Prizes	Expected Number of Prizes in Game	Expected Value in Game
\$2	\$2	123,000	\$246,000
\$2 + \$2	\$4	42,180	168,720
\$5	\$5	39,000	195,000
\$5 + \$2	\$7	24,000	168,000
\$10	\$10	6,000	60,000
\$5 + \$5	\$10	6,000	60,000
\$25	\$25	1,500	37,500
\$5 + \$10 + \$10	\$25	1,650	41,250
\$5 + \$5 + \$5 + \$5 + \$5	\$25	1,800	45,000
\$2 + \$2 + \$2 + \$2 + \$2 + \$5 + \$10	\$25	1,800	45,000
\$5 + \$5 + \$5 + \$5 + \$5 + \$10	\$35	750	26,250
\$5 + \$10 + \$10 + \$10	\$35	750	26,250
\$50	\$50	375	18,750
\$5 + \$5 + \$5 + \$5 + \$5 + \$5 + \$10 + \$10	\$50	375	18,750
\$100	\$100	150	15,000
\$250	\$250	60	15,000
\$2,500	\$2,500	15	37,500
TOTAL		<u>249,405</u>	<u>\$1,223,970</u>

(h) Each ticket in this game may have up to eight winning combinations.

(i) The overall odds of winning a prize in this game are approximately one in 3.61. (Authorized by K.S.A. 2013 Supp. 74-8710; implementing K.S.A. 2013 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-12-16-13, Oct. 16, 2013.)

**111-9-203. "Spin to Win" pull tab ticket lottery game number 573.** (a) The Kansas lottery may conduct a pull tab lottery game entitled "Spin to Win." The rules for this game are contained in K.A.R. 111-8-1 *et seq.* and K.A.R. 111-9-203.

(b) The price of pull tab tickets sold by a retailer for this game shall be \$2.00 each.

(c) Approximately 900,000 tickets shall be ordered initially for this pull tab game that shall be packaged in packs of 150 tickets each. The ticket numbers in each pack in this game shall start with 000 and end with 149. Additional ticket orders shall have the same prize structure, the same number of prizes per pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(d) The play symbols for this game are as follows:

- Symbol of a roulette wheel
- Symbol of a set of dice
- Symbol of a star
- Symbol of a four-leaf clover
- Symbol of a lemon
- Symbol of a stack of poker chips
- Symbol of a horseshoe
- Symbol of the word "BAR"

(e) For this game, three play symbols shall appear under each of eight tabs on the back of each ticket. On the front of each ticket shall appear a legend of all winning combinations using the play symbols for this game along with the corresponding prize amount for each combination, as follows: three symbols of a roulette wheel equal \$2.00; three symbols of a set of dice equal \$5.00; three symbols of a star equal \$10.00; three symbols of a four-leaf clover equal \$25.00; three symbols of a lemon equal \$50.00; three symbols of a stack of poker chips equal \$100.00; three symbols of a horseshoe

(continued)

equal \$250.00; three symbols of the word "BAR" equal \$2,500.00.

(f) All tabs on the back of each ticket are to be pulled open. For each combination of three play symbols matching the legend on the front of the ticket, the player wins the prize amount corresponding to each combination as shown in (e) above. All winning combinations shall be within a single window in a horizontal line.

(g) The number and value of prizes in this game and winning combinations shall be as follows: (See corresponding play symbol values in subsection (e) above.)

Get	Prizes	Expected Number of Prizes in Game	Expected Value in Game
\$2	\$2	123,000	\$246,000
\$2 + \$2	\$4	42,180	168,720
\$5	\$5	39,000	195,000
\$5 + \$2	\$7	24,000	168,000
\$10	\$10	6,000	60,000
\$5 + \$5	\$10	6,000	60,000
\$25	\$25	1,500	37,500
\$5 + \$10 + \$10	\$25	1,650	41,250
\$5 + \$5 + \$5 + \$5 + \$5	\$25	1,800	45,000
\$2 + \$2 + \$2 + \$2 + \$2 + \$5 + \$10	\$25	1,800	45,000
\$5 + \$5 + \$5 + \$5 + \$5 + \$10	\$35	750	26,250
\$5 + \$10 + \$10 + \$10	\$35	750	26,250
\$50	\$50	375	18,750
\$5 + \$5 + \$5 + \$5 + \$5 + \$5 + \$10 + \$10	\$50	375	18,750
\$100	\$100	150	15,000
\$250	\$250	60	15,000
\$2,500	\$2,500	15	37,500
TOTAL		<u>249,405</u>	<u>\$1,223,970</u>

(h) Each ticket in this game may have up to eight winning combinations.

(i) The overall odds of winning a prize in this game are approximately one in 3.61. (Authorized by K.S.A. 2013 Supp. 74-8710; implementing K.S.A. 2013 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-12-16-13, Oct. 16, 2013.)

#### Article 17.—SPECIFIC ONLINE DRAWING RULES

**111-17-9. Ultimate Chiefs experience second-chance drawing.** (a) The Kansas lottery shall conduct a second-chance online event drawing entitled "Ultimate Chiefs Experience Second-Chance Drawing." The Kansas lottery will accept online entries into the drawing beginning at midnight July 31, 2013, and ending at noon on February 5, 2014. The drawing will be announced with at least 24 hours advanced notice via the lottery's website, and other social media forums such as Facebook and Twitter. The drawing will be conducted sometime after entry into the drawing has closed, but before noon on February 7, 2014.

(b) The specific ticket eligible for entry into this second-chance online event drawing shall be the \$5 Kansas City Chiefs, game number 491.

(c) The Kansas lottery shall award five grand prize packages to players who entered the "Ultimate Chiefs Experience Second-Chance Drawing" using the \$5 Kansas lottery instant ticket named Kansas City Chiefs, game number 491. Each prize package shall consist of access to a 2014-2015 Kansas City Chiefs season suite for one winner and three guests for one game, and unlimited food and non-alcoholic beverages. Each suite guest will receive a gift bag with a \$25 stadium gift card, a Chiefs cheerleader calendar, a Chiefs hat, a Chiefs

2014 yearbook, and other lottery/Chiefs products possible. A drawing in the suite will be held for attending winners and their guests to win autographed merchandise. Each grand prize is valued at approximately \$9,514.29.

(d) There will be one drawing held to select winners of the grand prizes. The drawing shall select 25 entrants. The first five entrants drawn in this drawing shall be awarded a grand prize identified in subsection (c). The next 20 entrants drawn in this drawing (identified as numbers 6 through 25) will be used as alternate winners, if necessary, in the order drawn.

(e) A winner of a grand prize shall be notified via email that he or she has won a prize. The winner shall be instructed how to verify his or her personal identification.

(f) A winner shall be sent a claim form via U. S. mail at the time the winner is notified he or she has won a prize.

(g) A player who is among the first five winners selected in this drawing to receive a grand prize must return his or her completed claim form and must be received by the Kansas lottery within 30 days following the date of the online event drawing. Alternatively, a player who is among the entrants selected as alternate winners in this drawing to receive a grand prize and as identified in subsection (d) must return his or her completed claim form within 30 days following the date the alternate winner was sent a claim form via U. S. mail.

(h) Completed claim forms can be mailed by the winners via U.S. Mail to: Kansas lottery, 128 North Kansas Avenue, Topeka, Kansas 66603, or the winners can deliver the completed claim form by hand to the Kansas lottery claims center in Topeka, Kansas.

(i) If a player fails to answer any email, respond to any request for information, or fill out any forms required by the Kansas lottery within the time allotted in the winner's notification of winning a grand prize, said win shall be forfeited and the prize awarded to another alternate winner.

(j) Each person who enters a lottery Kansas City Chiefs ticket, game number 491, agrees to release Kansas City Chiefs Football Club, Inc., its parent and affiliated companies, the Kansas lottery and their respective officers, directors, employees, agents, and sponsors from liability of any kind or nature for any loss, claims, damages, or injuries of any kind associated with participation in the drawing or with acceptance and use of any prize.

(k) In the event any football game in the grand prize package awarded for this drawing is postponed, changed, or canceled in whole or in part, no cash prize substitutions or other compensation shall be provided.

(l) Any player entering the Ultimate Chiefs Experience Second-Chance Drawing agrees to public disclosure.

(m) The Kansas lottery reserves the right to substitute prizes at its sole and total discretion of approximate equal value.

(n) Rules applicable to this online event drawing are contained in K.A.R. 111-17-9 and K.A.R. 111-16-1 *et seq.* (Authorized by K.S.A. 2013 Supp. 74-8710 and K.S.A. 74-8748; implementing K.S.A. 2013 Supp. 74-8710; effective, T-111-8-15-13, July 13, 2013; amended, T-111-12-16-13, Oct. 16, 2013.)

**111-17-10. The Walking Dead second-chance drawings.** (a) The Kansas lottery may conduct a series of three second-chance online drawings entitled "The Walking Dead Drawings." The Kansas lottery will accept entries into the

first drawing through the Kansas Lottery website (website) starting at midnight, September 25, 2013, and ending at noon on December 10, 2013. Drawings will be announced with at least 24 hours advanced notice via the lottery’s website, and other social media forums such as Facebook and Twitter. The first drawing will be conducted sometime after entry into the drawing has closed, but before noon on December 13, 2013. The Kansas lottery will accept entries into the second drawing through the website starting at midnight, September 25, 2013, and ending at noon on January 7, 2014. The second drawing will be conducted sometime after entry into the drawing has closed, but before noon on January 10, 2014. The Kansas lottery will accept entries into the third drawing through the website starting at midnight, September 25, 2013, and ending at noon on February 11, 2014. The third drawing will be conducted sometime after entry into the drawing has closed, but before noon on February 14, 2014.

(b) The specific non-winning ticket eligible for entry into this second-chance online event drawings shall be the \$2, “The Walking Dead,” game number 454.

(c) The Kansas lottery shall award five grand prizes and five secondary prizes in each second-chance drawing. Each grand prize shall consist of a 32 inch television, a blu ray player, and the first three seasons on blu ray discs of “The Walking Dead” television series shows. Each secondary prize shall consist of the first three seasons on blu ray discs of “The Walking Dead” television series shows.

(d) There will be three drawings conducted on the dates indicated in subsection (a) above to select winners of the grand prizes and secondary prizes. Each drawing shall select 30 entrants. The first five entrants drawn (identified as numbers 1 through 5) in each drawing shall be awarded a grand prize identified in subsection (c). The next five entrants drawn (identified as numbers 6 through 10) shall be awarded a secondary prize identified in subsection (c). The next 20 entrants drawn in this drawing (identified as numbers 11 through 30) will be used as alternate winners, if necessary, in the order drawn. An alternate winner will be awarded the first available unclaimed prize.

(e) A winner of a grand prize or a secondary prize shall be notified via email that he or she has won a prize. The winner shall be instructed how to verify his or her personal identification.

(f) A winner shall be sent a claim form via U. S. mail at the time email notification is sent.

(g) A player who is among the winners selected in this drawing to receive a grand prize or a secondary prize must return his or her completed claim form and must be received

by the Kansas lottery within 30 days following the date of the winners being notified via email. Alternatively, a player who is among the entrants selected as alternate winners in this drawing to receive a prize and as identified in subsection (d) must return his or her completed claim form within 30 days following the date the alternate winner was sent a claim form via U. S. mail.

(h) Completed claim forms and non-winning ticket(s) can be mailed by the winners via U.S. Mail to: Kansas lottery, 128 North Kansas Avenue, Topeka, Kansas 66603, or the winners can deliver the completed claim form by hand to the Kansas lottery claims center in Topeka, Kansas, during normal business hours between 8 a.m. and 5 p.m., excluding holidays and weekends.

(i) If a player fails to answer any email, respond to any request for information, or fill out any forms required by the Kansas lottery within the time allotted in the winner’s notification of winning a grand prize, said win shall be forfeited and the prize awarded to another alternate winner.

(j) A player can enter the online event drawings an unlimited number of times, but can win a prize in each drawing only one time.

(k) Each person who enters a Kansas lottery “The Walking Dead” ticket, game number 454, agrees to release The Walking Dead, its parent and affiliated companies, the Kansas lottery and their respective officers, directors, employees, agents, and sponsors from liability of any kind or nature for any loss, claims, damages, or injuries of any kind associated with participation in the drawing or with acceptance and use of any prize.

(l) Any player entering The Walking Dead Second-Chance Drawing agrees to public disclosure.

(m) The Kansas lottery reserves the right to substitute prizes at its sole and total discretion of approximate equal value.

(n) Entrants into the drawing are eligible to win a prize in each drawing, but a non-winning ticket may win only one time. Any alternate entrants selected in the first and second drawings are returned to the pool of eligible entrants for each succeeding drawing. All winners remain in the prize category originally drawn.

(o) Rules applicable to this online event drawing are contained in K.A.R. 111-17-10 and K.A.R. 111-16-1 *et seq.* (Authorized by K.S.A. 2013 Supp. 74-8710 and K.S.A. 74-8748; implementing K.S.A. 2013 Supp. 74-8710; effective, T-111-10-11-13, Aug. 14, 2013; amended, T-111-12-16-13, Oct. 16, 2013.)

Dennis Taylor  
Executive Director

Doc. No. 042197

**INDEX TO ADMINISTRATIVE REGULATIONS**  
This index lists in numerical order the new, amended and revoked administrative regulations and the volume and page number of the *Kansas Register* issue in which more information can be found. Temporary regulations are designated with a (T) in the Action column. This cumulative index supplements the 2009 Volumes of the *Kansas Administrative Regulations* and the 2013 Supplement of the *Kansas Administrative Regulations*.

AGENCY 4: DEPARTMENT OF AGRICULTURE		
Reg. No.	Action	Register
4-16-1a	Amended	V. 32, p. 408
4-16-1c	Amended	V. 32, p. 409
4-16-7a	Amended	V. 32, p. 410
4-16-306	New	V. 32, p. 410
4-17-1a	Revoked	V. 32, p. 411
4-17-1c	Revoked	V. 32, p. 411
4-17-300	Revoked	V. 32, p. 411
4-17-302		
4-17-305	Revoked	V. 32, p. 411
4-28-2	Amended	V. 32, p. 349
4-28-6	Amended	V. 32, p. 499
4-28-8	Amended	V. 32, p. 349

4-28-9 through 4-28-16	Revoked	V. 32, p. 349
4-28-33	New	V. 32, p. 499
4-28-34	New	V. 32, p. 500
AGENCY 5: DEPARTMENT OF AGRICULTURE—DIVISION OF WATER RESOURCES		
Reg. No.	Action	Register
5-16-1	Amended	V. 32, p. 566
5-16-2	Revoked	V. 32, p. 566
5-16-3	Amended	V. 32, p. 566
5-16-4	Amended	V. 32, p. 567
5-16-5	Revoked	V. 32, p. 567
5-16-6	Amended	V. 32, p. 567

(continued)

5-16-7 Amended V. 32, p. 567

**AGENCY 9: DEPARTMENT OF AGRICULTURE—DIVISION OF ANIMAL HEALTH**

**Reg. No. Action Register**  
9-7-4 Amended V. 32, p. 1170

**AGENCY 10: KANSAS BUREAU OF INVESTIGATION**

**Reg. No. Action Register**  
10-10-2 Amended V. 32, p. 960  
10-10-5 New V. 32, p. 960

**AGENCY 11: DEPARTMENT OF AGRICULTURE—DIVISION OF CONSERVATION**

**Reg. No. Action Register**  
11-12-1 through 11-12-7 Amended V. 32, p. 501-503

**AGENCY 14: DEPARTMENT OF REVENUE—DIVISION OF ALCOHOLIC BEVERAGE CONTROL**

**Reg. No. Action Register**  
14-13-1 Amended V. 32, p. 148  
14-13-2 Amended V. 32, p. 149  
14-13-3 Revoked V. 32, p. 150  
14-13-4 through 14-13-10 Amended V. 32, p. 150, 151  
14-13-11 Revoked V. 32, p. 152  
14-13-13 Amended V. 32, p. 152  
14-13-15 Amended V. 32, p. 153  
14-13-16 New V. 32, p. 407  
14-13-17 New V. 32, p. 408  
14-13-18 New V. 32, p. 408

**AGENCY 16: ATTORNEY GENERAL**

**Reg. No. Action Register**  
16-8-1 through 16-8-7 New (T) V. 32, p. 864-866  
16-8-1 through 16-8-7 New V. 32, p. 1238-1240  
16-11-7 Amended (T) V. 32, p. 916  
16-11-7 Amended V. 32, p. 1289

**AGENCY 17: OFFICE OF THE STATE BANK COMMISSIONER**

**Reg. No. Action Register**  
17-11-18 Amended V. 32, p. 372

**AGENCY 20: CRIME VICTIMS COMPENSATION BOARD**

**Reg. No. Action Register**  
20-1-1 Amended V. 32, p. 1528  
20-1-2 Revoked V. 32, p. 1528  
20-2-1 Revoked V. 32, p. 1528  
20-2-2 Amended V. 32, p. 1528  
20-2-3 Amended V. 32, p. 1529  
20-2-4 Revoked V. 32, p. 1529  
20-2-7 Amended V. 32, p. 1529  
20-2-8 Amended V. 32, p. 1529  
20-2-9 Amended V. 32, p. 1530  
20-6-1 Revoked V. 32, p. 1530  
20-15-1 Revoked V. 32, p. 1530  
20-15-2 Revoked V. 32, p. 1530

**AGENCY 22: STATE FIRE MARSHAL**

**Reg. No. Action Register**  
22-4-2 Revoked V. 32, p. 1217  
22-4-3 Revoked V. 32, p. 1217  
22-4-4 Revoked V. 32, p. 1217  
22-4-5 New (T) V. 32, p. 859  
22-4-5 New V. 32, p. 1217

**AGENCY 26: DEPARTMENT FOR AGING AND DISABILITY SERVICES**

**Reg. No. Action Register**  
26-39-100 Amended (T) V. 32, p. 867  
26-39-100 Amended V. 32, p. 1241  
26-50-10 New (T) V. 32, p. 870  
26-50-10 New V. 32, p. 1244

26-50-12 New (T) V. 32, p. 871  
26-50-12 New V. 32, p. 1244  
26-50-20 New (T) V. 32, p. 871  
26-50-20 New V. 32, p. 1244  
26-50-22 New (T) V. 32, p. 871  
26-50-22 New V. 32, p. 1245  
26-50-24 New (T) V. 32, p. 872  
26-50-24 New V. 32, p. 1246  
26-50-26 New (T) V. 32, p. 873  
26-50-26 New V. 32, p. 1246  
26-50-30 New (T) V. 32, p. 873  
26-50-30 New V. 32, p. 1247  
26-50-32 New (T) V. 32, p. 874  
26-50-32 New V. 32, p. 1247  
26-50-34 New (T) V. 32, p. 874  
26-50-34 New V. 32, p. 1248  
26-50-36 New (T) V. 32, p. 874  
26-50-36 New V. 32, p. 1248  
26-50-38 New (T) V. 32, p. 875  
26-50-38 New V. 32, p. 1248  
26-50-40 New (T) V. 32, p. 875  
26-50-40 New V. 32, p. 1249

**AGENCY 28: DEPARTMENT OF HEALTH AND ENVIRONMENT**

**Reg. No. Action Register**  
28-4-801 Amended V. 32, p. 1026  
28-4-814 Amended V. 32, p. 1027  
28-4-816 Amended V. 32, p. 1028  
28-4-820 Amended V. 32, p. 1029  
28-4-821 Amended V. 32, p. 1030  
28-4-1250 through 28-4-1269 New (T) V. 33, p. 8-24  
28-29-109 Amended V. 32, p. 938  
28-29-1600 through 28-29-1608 New V. 32, p. 1194-1199  
28-30-2 through 28-30-6 Amended V. 32, p. 522-525  
28-31-260b New V. 32, p. 415  
28-31-268 Amended V. 32, p. 416  
28-32-13 Amended V. 32, p. 208  
28-35-147a Amended V. 32, p. 260  
28-39-164 through 28-39-168 Revoked (T) V. 32, p. 876  
28-39-169a Revoked (T) V. 32, p. 876  
28-39-169b Revoked (T) V. 32, p. 876  
28-39-169c Revoked (T) V. 32, p. 876

**AGENCY 30: DEPARTMENT FOR CHILDREN AND FAMILIES**

**Reg. No. Action Register**  
30-6-34 Revoked (T) V. 32, p. 1376  
30-6-35 Revoked (T) V. 32, p. 1376  
30-6-36 Revoked (T) V. 32, p. 1376  
30-6-39 Revoked (T) V. 32, p. 1376  
30-6-40 Revoked (T) V. 32, p. 1376  
30-6-41 Revoked (T) V. 32, p. 1376  
30-6-50 through 30-6-56 Revoked (T) V. 32, p. 1376  
30-6-60 Revoked (T) V. 32, p. 1376  
30-6-63 Revoked (T) V. 32, p. 1377  
30-6-65 Revoked (T) V. 32, p. 1377  
30-6-70 Revoked (T) V. 32, p. 1377  
30-6-78 Revoked (T) V. 32, p. 1377  
30-6-80 Revoked (T) V. 32, p. 1377  
30-6-81 Revoked (T) V. 32, p. 1377  
30-6-82 Revoked (T) V. 32, p. 1377  
30-6-85 through 30-6-89 Revoked (T) V. 32, p. 1377  
30-6-91 Revoked (T) V. 32, p. 1377  
30-6-94 Revoked (T) V. 32, p. 1377  
30-6-95 Revoked (T) V. 32, p. 1377  
30-6-103 Revoked (T) V. 32, p. 1377  
30-6-106 through 30-6-113 Revoked (T) V. 32, p. 1378, 1379  
30-6-120 Revoked (T) V. 32, p. 1379  
30-6-140 Revoked (T) V. 32, p. 1379  
30-6-150 Revoked (T) V. 32, p. 1379  
30-14-1 Revoked (T) V. 32, p. 1379  
30-14-2 Revoked (T) V. 32, p. 1379  
30-14-3 Revoked (T) V. 32, p. 1379

30-14-20 Revoked (T) V. 32, p. 1379  
30-14-21 Revoked (T) V. 32, p. 1379  
30-14-23 through 30-14-26 Revoked (T) V. 32, p. 1379  
30-14-28 through 30-14-31 Revoked (T) V. 32, p. 1379  
30-14-50 Revoked (T) V. 32, p. 1380

**AGENCY 40: KANSAS INSURANCE DEPARTMENT**

**Reg. No. Action Register**  
40-1-20 Amended V. 32, p. 183  
40-2-14a Amended V. 32, p. 183

**AGENCY 44: DEPARTMENT OF CORRECTIONS**

**Reg. No. Action Register**  
44-15-204 New (T) V. 32, p. 862  
44-15-204 New V. 32, p. 1150

**AGENCY 51: DEPARTMENT OF LABOR—DIVISION OF WORKERS COMPENSATION**

**Reg. No. Action Register**  
51-9-7 Amended V. 32, p. 1299  
51-9-15 Revoked V. 32, p. 836  
51-9-17 Amended V. 32, p. 88

**AGENCY 60: BOARD OF NURSING**

**Reg. No. Action Register**  
60-8-101 Amended V. 32, p. 1216  
60-9-105 Amended V. 32, p. 411  
60-9-106 Amended V. 32, p. 412  
60-9-107 Amended V. 32, p. 413  
60-12-106 Amended V. 32, p. 414  
60-16-102 Amended V. 32, p. 1216

**AGENCY 66: BOARD OF TECHNICAL PROFESSIONS**

**Reg. No. Action Register**  
66-8-3 Amended V. 32, p. 1488  
66-8-6 Amended V. 32, p. 1488  
66-9-7 Amended V. 32, p. 1488  
66-10-1 Amended V. 32, p. 1489  
66-10-3 Amended V. 32, p. 1489  
66-10-9 Amended V. 32, p. 1489  
66-10-13 Amended V. 32, p. 1489  
66-10-14 Amended V. 32, p. 1490  
66-11-1 Amended V. 32, p. 1490  
66-11-2 Revoked V. 32, p. 1490  
66-14-1 Amended V. 32, p. 1490

**AGENCY 71: KANSAS DENTAL BOARD**

**Reg. No. Action Register**  
71-3-9 Amended V. 32, p. 504

**AGENCY 81: OFFICE OF THE SECURITIES COMMISSIONER**

**Reg. No. Action Register**  
81-14-9 Amended V. 32, p. 1235  
81-14-11 New V. 32, p. 1238

**AGENCY 82: STATE CORPORATION COMMISSION**

**Reg. No. Action Register**  
82-3-135a Amended V. 32, p. 940  
82-3-602 Amended V. 32, p. 940  
82-3-603 Amended V. 32, p. 940  
82-3-604 Amended V. 32, p. 941  
82-3-607 Amended V. 32, p. 942  
82-3-608 New V. 32, p. 942  
82-3-1300 through 82-3-1307 New V. 32, p. 942, 943  
82-3-1400 New V. 32, p. 1354  
82-3-1401 New V. 32, p. 1355  
82-3-1402 New V. 32, p. 1355  
82-4-1 Amended V. 32, p. 1077  
82-4-3a through 82-4-3d Amended V. 32, p. 1079-1099  
82-4-3f through 82-4-3o Amended V. 32, p. 1100-1119  
82-4-6d Amended V. 32, p. 1119

82-4-8a	Amended	V. 32, p. 1121
82-4-20	Amended	V. 32, p. 1121
82-4-27	Amended	V. 32, p. 1122
82-4-29	Amended	V. 32, p. 1122
82-4-39	Amended	V. 32, p. 1122
82-4-48a	Amended	V. 32, p. 1122

**AGENCY 91: DEPARTMENT OF EDUCATION**

Reg. No.	Action	Register
91-31-32	Amended	V. 32, p. 1527
91-42-1	New	V. 32, p. 317
91-42-2	New	V. 32, p. 317

**AGENCY 92: DEPARTMENT OF REVENUE**

Reg. No.	Action	Register
92-51-21	Amended	V. 32, p. 1325

**AGENCY 93: DEPARTMENT OF REVENUE—DIVISION OF PROPERTY VALUATION**

Reg. No.	Action	Register
93-6-2	Amended	V. 32, p. 1454
93-6-3	Amended	V. 32, p. 1454
93-6-6	Amended	V. 32, p. 1455

**AGENCY 98: KANSAS WATER OFFICE**

Reg. No.	Action	Register
98-1-1	Amended	V. 32, p. 995
98-1-2	Revoked	V. 32, p. 996
98-2-1	Amended	V. 32, p. 996
98-2-2	Amended	V. 32, p. 996
98-2-3 through 98-2-20	Revoked	V. 32, p. 996
98-4-1 through 98-4-5	Amended	V. 32, p. 996-998
98-4-6	Revoked	V. 32, p. 998
98-4-7	Revoked	V. 32, p. 998
98-4-8	Amended	V. 32, p. 998
98-4-9	Revoked	V. 32, p. 999
98-4-10	Revoked	V. 32, p. 999
98-5-1	Revoked	V. 32, p. 999
98-5-2 through 98-5-8	Amended	V. 32, p. 999-1001
98-5-9	New	V. 32, p. 1001
98-6-1	Revoked	V. 32, p. 1002
98-6-3	Amended	V. 32, p. 1002
98-6-4	Amended	V. 32, p. 1003
98-7-1 through 98-7-4	New	V. 32, p. 1003, 1004
98-7-6	New	V. 32, p. 1005
98-8-1	New	V. 32, p. 1005
98-8-2	New	V. 32, p. 1006
98-8-3	New	V. 32, p. 1006

**AGENCY 99: DEPARTMENT OF AGRICULTURE—DIVISION OF WEIGHTS AND MEASURES**

Reg. No.	Action	Register
99-25-1	Amended	V. 32, p. 960
99-25-9	Amended	V. 32, p. 960
99-40-3	Amended	V. 32, p. 960

**AGENCY 102: BEHAVIORAL SCIENCES REGULATORY BOARD**

Reg. No.	Action	Register
102-7-3	Amended (T)	V. 32, p. 916
102-7-3	Amended	V. 32, p. 1356

**AGENCY 109: BOARD OF EMERGENCY MEDICAL SERVICES**

Reg. No.	Action	Register
109-1-1	Amended	V. 32, p. 226
109-1-1a	Revoked	V. 32, p. 229
109-2-2	Amended	V. 32, p. 1512
109-2-5	Amended	V. 32, p. 612

109-5-3	Amended	V. 32, p. 230
109-5-5	Amended	V. 32, p. 231
109-11-1	Revoked	V. 32, p. 231
109-11-3	Revoked	V. 32, p. 231
109-11-4	Revoked	V. 32, p. 231
109-11-5	Revoked	V. 32, p. 231
109-11-6	Revoked	V. 32, p. 231
109-15-1	Amended	V. 32, p. 231
109-15-2	Amended	V. 33, p. 7
109-16-1	New	V. 33, p. 8

**AGENCY 110: DEPARTMENT OF COMMERCE**

Reg. No.	Action	Register
110-6-1	Revoked	V. 32, p. 1049
110-6-1a	Revoked	V. 32, p. 1049
110-6-2 through 110-6-7	Revoked	V. 32, p. 1049, 1050
110-6-8 through 110-6-12	New	V. 32, p. 1050-1053
110-12-1 through 110-12-6	Revoked	V. 32, p. 854

**AGENCY 111: KANSAS LOTTERY**

A complete index listing all regulations filed by the Kansas Lottery from 1988 through 2000 can be found in the Vol. 19, No. 52, December 28, 2000 Kansas Register. A list of regulations filed from 2001 through 2003 can be found in the Vol. 22, No. 52, December 25, 2003 Kansas Register. A list of regulations filed from 2004 through 2005 can be found in the Vol. 24, No. 52, December 29, 2005 Kansas Register. A list of regulations filed from 2006 through 2007 can be found in the Vol. 26, No. 52, December 27, 2007 Kansas Register. A list of regulations filed from 2008 through November 2009 can be found in the Vol. 28, No. 53, December 31, 2009 Kansas Register. A list of regulations filed from December 1, 2009 through December 21, 2011, can be found in the Vol. 30, No. 52, December 29, 2011 Kansas Register. A list of regulations filed from December 22, 2011 through November 6, 2013, can be found in the Vol. 32, No. 52, December 26, 2013 Kansas Register.

**AGENCY 115: DEPARTMENT OF WILDLIFE, PARKS AND TOURISM**

Reg. No.	Action	Register
115-2-1	Amended	V. 32, p. 1299
115-2-3	Amended	V. 32, p. 482
115-4-4	Amended	V. 32, p. 319
115-4-4a	Amended	V. 32, p. 320
115-4-11	Amended	V. 32, p. 483
115-5-1	Amended	V. 32, p. 854
115-5-2	Amended	V. 32, p. 855
115-6-1	Amended	V. 32, p. 855
115-7-10	Amended	V. 32, p. 1300
115-8-1	Amended	V. 32, p. 856
115-8-2	Amended	V. 32, p. 856
115-8-23	Amended	V. 32, p. 857
115-9-8	Amended	V. 32, p. 89
115-14-14	Amended	V. 32, p. 90
115-16-5	Amended	V. 32, p. 857
115-18-7	Amended	V. 32, p. 320
115-40-1 through 115-40-6	New	V. 32, p. 858, 859

**AGENCY 117: REAL ESTATE APPRAISAL BOARD**

Reg. No.	Action	Register
117-7-1	Amended	V. 32, p. 226
117-20-3	New	V. 32, p. 89
117-20-4	Amended	V. 32, p. 1026
117-20-7	New	V. 32, p. 89

**AGENCY 128: DEPARTMENT OF COMMERCE—KANSAS ATHLETIC COMMISSION**

Reg. No.	Action	Register
128-1-1	Amended	V. 32, p. 1455
128-2-1	Amended	V. 32, p. 1456
128-2-3a	New	V. 32, p. 1457
128-2-6 through 128-2-9	Amended	V. 32, p. 1457, 1458
128-2-12	Amended	V. 32, p. 1458
128-2-13	Amended	V. 32, p. 1458
128-3-1	Amended	V. 32, p. 1459
128-4-2 through 128-4-9	Amended	V. 32, p. 1460-1465
128-5-1	Amended	V. 32, p. 1466
128-5-2	Amended	V. 32, p. 1466
128-5-3	New	V. 32, p. 1467
128-6-1	Amended	V. 32, p. 1467
128-6-6	New	V. 32, p. 1472
128-6-7	New	V. 32, p. 1472

**AGENCY 129: DEPARTMENT OF HEALTH AND ENVIRONMENT—DIVISION OF HEALTH CARE FINANCE**

Reg. No.	Action	Register
129-1-1	New (T)	V. 32, p. 1380
129-2-1	New (T)	V. 32, p. 1380
129-6-30	New (T)	V. 32, p. 1380
129-6-34	New (T)	V. 32, p. 1380
129-6-35	New (T)	V. 32, p. 1382
129-6-36	New (T)	V. 32, p. 1382
129-6-38	Revoked (T)	V. 32, p. 1382
129-6-39	New (T)	V. 32, p. 1382
129-6-41	New (T)	V. 32, p. 1382
129-6-42	New (T)	V. 32, p. 1383
129-6-50 through 129-6-57	New (T)	V. 32, p. 1383-1388
129-6-60	New (T)	V. 32, p. 1390
129-6-63	New (T)	V. 32, p. 1391
129-6-65	New (T)	V. 32, p. 1391
129-6-70 through 129-6-74	New (T)	V. 32, p. 1391, 1392
129-6-77	Revoked (T)	V. 32, p. 1393
129-6-80 through 129-6-89	New (T)	V. 32, p. 1393-1395
129-6-91	New (T)	V. 32, p. 1395
129-6-94 through 129-6-97	New (T)	V. 32, p. 1395, 1396
129-6-103	New (T)	V. 32, p. 1396
129-6-106 through 129-6-113	New (T)	V. 32, p. 1397-1405
129-6-120	New (T)	V. 32, p. 1407
129-6-140	New (T)	V. 32, p. 1407
129-6-150	New (T)	V. 32, p. 1407
129-6-151	Amended (T)	V. 32, p. 1408
129-6-152	Amended (T)	V. 32, p. 1408
129-6-153	New (T)	V. 32, p. 1408
129-10-31	Amended	V. 32, p. 1488
129-14-2	New (T)	V. 32, p. 1409
129-14-3	New (T)	V. 32, p. 1409
129-14-20	New (T)	V. 32, p. 1409
129-14-21	New (T)	V. 32, p. 1410
129-14-22	Revoked (T)	V. 32, p. 1410
129-14-23	New (T)	V. 32, p. 1410
129-14-25	New (T)	V. 32, p. 1410
129-14-26	New (T)	V. 32, p. 1411
129-14-27	Amended (T)	V. 32, p. 1411
129-14-28	New (T)	V. 32, p. 1412
129-14-30 through 129-14-37	New (T)	V. 32, p. 1412-1414
129-14-40	New (T)	V. 32, p. 1414
129-14-50	New (T)	V. 32, p. 1415
129-14-51	Amended (T)	V. 32, p. 1415
129-14-52	Amended (T)	V. 32, p. 1415

**Kansas Register**  
**Secretary of State**  
**1st Floor, Memorial Hall**  
**120 S.W. 10th Ave.**  
**Topeka, KS 66612-1594**

---